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Which one of the following is the best description of the term “‘ecosystem”?

1) A community of organisms interacting with one another

2) That part of the Earth which is inhabited by living organisms

3) A community of organisms together with the environment in which they live.
4) The flora and fauna of a geographical area.
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Which one of the following terms describes not only the physical space occupied by an organism,
but also its functional role in the community of organisms?
1) Ecotone 2) Ecological niche  3) Habitat 4) Home range
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The vegetation of savannah consists of grassland with scattered small trees, but extensive areas
have no trees. The forest development in such areas is generally kept in check by one or more or
a combination of some conditions. Which of the following are such conditions?

a) Burrowing animals and termites b) Fire c¢) Grazing herbivores
d) Seasonal rainfall e) Soil properties

Answer options :

1)a,b,c,d 2)a,b,c,eonly 3) All the above 4)b, c,d only
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With reference to the wetlands of India, which of the statements given below is/are correct?
a) The country’s total geographical area under the category of wetlands is recorded more in Gujarat
as compared to other States.
b) In India, the total geographical area of coastal wetlands is larger than that of inland wetlands.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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Which of the following have coral reefs?

a) Andaman and Nicobar Islands b) Gulf of Kachchh

¢) Gulf of Mannar d) Sunderbans

Answer Options :

1) (a)and (d)only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢c)
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Which of the statements given below is/are correct ?

a) Most of the world’s coral reefs are in tropical waters.

b) More than one-third of the world’s coral reefs are located in the territories of Australia,
Indonesia and Philippines.

c¢) Coral reefs host far more number of animal phyla than those hosted by tropical rainforests.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only
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Which of the pair/s given below is/are correctly matched ?

Wetlands Confluence of rivers
a) Harike Wetlands Confluence of Beas and Satluj/Sutle;j
b) Keoladeo Ghana National Park Confluence of Banas and Chambal
¢) Kolleru Lake Confluence of Musi and Krishna
Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

el feetea forcdt Siea sRISR e Med ? (Ieets/aAd - ANB)
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How many pairs given above are correctly matched ? (Wetland / Lake - Location)

a) Hokera Wetland — Punjab b) Renuka Wetland — Himachal Pradesh
c¢) Rudrasagar Lake — Tripura d) Sasthamkotta L.ake — Tamil Nadu
Answer Options :

1) Only one pair 2) Only two pairs 3) Only three pairs 4) All four pairs

HRAT T WIeTeTdeh! DIUIAT FeeTd WREE SiTel, FGTeRd SiTet AT UMsierd Siet 3118 ?
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Which one of the following regions of India has a combination of mangrove forest, evergreen
forest and deciduous forest?

1) North Coastal Andhra Pradesh 2) South-West Bengal

3) Southern Saurashtra 4) Andaman and Nicobar Islands
Gleflel g fraR .

31) IrOUTA T ¥) fRara g %) feRm

gt IR :
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In which of the following states do "Tropical Wet Evergreen Forests" occur?
a) Arunachal Pradesh  b) Himachal Pradesh ¢) Mizoram

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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In case of which one of the following biogeochemical cycles, the weathering of rocks is the main

source of release of nutrient to enter the cycle?
1) Carbon cycle 2) Nitrogen cycle 3) Phosphorus cycle  4) Sulphur cycle
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What is "blue carbon"?

1) Carbon captured by oceans and coastal ecosystems

2) Carbon sequestered in forest biomass and agricultural soils

3) Carbon contained in petroleum and natural gas
4) Carbon present in atmosphere

XgTefierehl PITT ARG~ (hfaT TR 3R 2
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Which of the following are nitrogen-fixing plants ?

a) Alfalfa b) Amaranth c¢) Chickpea

d) Clover e) Purslane (Kulfa) f) Spinach

Answer Options :

1) (a), (c) and (d) only 2) (a), (¢), (e) and (f) only

3) (b), (d), () and (f) only 4) (a), (b), (d), (e) and (f)

TSI AT AT WSSadd MATPR UG Pbleal Pl J 1S gdge, Fabdl AT 7, PR ...
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When the bark of a tree is removed in a circular fashion all around near its base, it gradually dries
up and dies because..........

1) Water from soil cannot rise to aerial parts

2) Roots are starved of energy

3) Tree is infected by soil microbes

4) Roots do not receive oxygen for respiration

HERTE ISTURT AR WaT gauRten - aRfRARTS!, Sta-fafdedr snfor gamm aqat / a2



4)

5)

&)

6)

7)

)

1)

For Private Circulation Only

3MP A AT AT ARIT BR............

q) I AR 3Fge @il T

R) TgD T B T HLcllell YU T UehScld
3) TIRIYUITET do8! qgcieh ool bl TTascle]

¥) UIRIGUTAT dod! U &RIE gIdTd.

Many transplanted seedling do not grow because ............
1) the new soil does not contain favorable minerals

2) most of the root hairs grip the new soil too hard

3) most of the root hairs are lost during transplantation
4) leaves get damaged during transplantation.

SUHICHUIT TSI SHTeT PG CIhed R, SWBICIL JIISTE! ST Jeiia ardl daes Jaie aid
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If a tropical rain forest is removed, it does not regenerate quickly as compared to a tropical
deciduous forest. This is because ............

1) the soil of rain forest is deficient in nutrients

2) propagules of the trees in a rain forest have poor viability

3) the rain forest species are slow-growing

4) exotic species invade the fertile soil of rain forest

YT peRT SCR IvfedTal SRS I faefee gt sfor caredn ol A J89RT Jgcichdesl SEel
. AT YT STSTfcReh, TRei STeie aReT hieliaR Suteled] I, SSiaR ag fohat viivmeeeaan
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“Leaf litter decomposes faster than in any other biome and as a result te soil surface is often
almost bare. Apart from trees, the vegetation is largely composed of plant forms that reach up
into the canopy vicariously, by climbing the trees or growing as epiphytes, rooted on the upper
branches of trees.” This is the most likely description of ...............

1) Coniferous forest 2) Dry deciduous forest

3) Mangrove forest 4) Tropical rain forest

) 3ifearT g uRFRAFTHI=N Icargdhar
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Which one of the following is the correct sequence of ecosystems in the order of decreasing
productivity?

1) Oceans, lakes, grasslands, mangroves 2) Mangroves, oceans, grasslands, lakes

3) Mangroves, grasslands, lakes, oceans 4) Oceans, mangroves, lakes, grasslands
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In the context of ecosystem productivity, marine upwelling zones are important as they increase
the marine productivity by bringing the ...........

a) decomposer microorganisms to the surface.

b) nutrients to the surface.

c¢) bottom-dwelling organisms to the surface.

Answer Options :

1) (b)only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

AIPRIISE JRICaIaSTEl IR TR Feied] RERIT JdaT PRUINIC! befl Tl Mg BRI
ARIPRITSAT TR ... PRI & R4

37) gSpleTa HicrPR T STIOT elep &1 areal

¥) duet HHIT T PRor

&) TET AIGHTT IRGUT

Tt S :

9) (31) ST (F) B ) (31) ST () Hh 3) (9) Fh 8) (31), (@), ()
Mycorrhizal biotechnology has been used in rehabilitating degraded sites because mycorrhiza
enables the plants to ............

a) resist drought and increase absorptive area

b) tolerate extremes of pH

¢) resist disease infestation

Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (b) only 4) (a), (b), (¢)

Q) SHIRIRTH - Frotl fORfAE, 319 ARG 3MOT SITes

3T ATES} 3oy ST
IAEH
yerh
fdges
q) 3 ARG 0T SA1ed
GTofleTidh! P FERIRGRT hH AT 3MTE ?
9) SRIEFI- R -gRwT ) PRRRI-SRe=RT-gRw
3) SHICg-gR™I-eefoirg ¥) PRI g -SRIe=g
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Which one of the following is the correct sequence of a food chain?
1) Diatoms- Crustaceans-Herrings 2) Crustaceans-Diatoms-Herrings
3) Diatoms-Herrings-Crustaceans 4) Crustaceans-Herrings-Diatoms

ghIRIeHTHeT SRR ieyid, Wiefletidh! PIvr T SRR 3R /3R ?

37) JTFARIR! PIUT THAM STidwiqd] ARIc! TehHDHT WA @ TIE Bl

¥) IEING®! TNTICAT AR 3TTGed.

%) 3 ARG TR AT FRAT gefad o SoRiH! @I 3R,

Tt S :

9) (31) weh R) (an) 3T (3) Bk 3) (31), () S () ¥) (F) MO (D) Heh
With reference to food chains in ecosystems, which of the statements given below is/are correct?
a) A food chain illustrates the order in which a chain of organisms feed upon each other.

b) Food chains are found within the populations of a species.

c¢) A food chain illustrates the numbers of each organism which are eaten by others.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

"SR g 9eg elt pef} SRRy Feuld Sgka dhedl Sl

q) SRARIRT SiarsH

R) W URMHND Tl FSTTeit

3) IR-Yd AR IASRUIRT &I TlTet.

8) TR IGSTAT SRIEMTl e JIFD Plerds

The word ‘Denisovan’ is sometimes mentioned in media in reference to
1) fossils of a kind of dinosaurs

2) an early human species

3) acave system found in North-East India.

4) a geological period in the history of Indian subcontinent

3) SHIEH
Gleiiel bl PO Ferola HERIFRIAT ARG el Tfeh IHTGH MM ?

a) PIurST b) ARANGRAT ) SR d) BRIfERT
i SR :

q) (a) 31T (b) Bh ) (b) 37 (c) 3)@), (c) () ¥) (a), (b), (c), (d)
Which of the following organisms are primary producers in the food chains of oceans? :
a) Copepods b) Cyanobacteria c) Diatoms d) Foraminifera
Answer Options :

1) (a) and (b) only 2) (b) and (¢) 3) (a), (c) and (d) 4) (a), (b), (c), (d)
WIefieAdd PIord Foflg HTef FeledT JEIRMER g Iguardt gTaydT 318 ?

3T) B ) ot P) 919 3) HIRH

i SR :

q) (a) 3T (b) HH ) (a), (b) MM (c)  3)(a), (¢) M (d)  ¥) (a), (b), (), (d)
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In the nature, which of the following is/are most likely to be found surviving on a surface without
soil?

a) Fern b) Lichen c) Moss d) Mushroom

Answer Options :

1) (@and (b)only  2)(a),(b)and (c) 3) (a), (¢) and (d) 4) (a), (b), (¢), (d)

RPN, S IS IS WSHIR el YR ITRIMUBR G BRUIRT & 3Tedd, I ... I
weofia 3me.

q) Yepuefir g ST Sty R) TpuelT gl aTIfor gReft

3) Sffarey T gReft g) gReft amfor Qrares

Lichens, which are capable of initiating ecological succession even on a bare rock, are actually a
symbiotic association of .......

1) algae and bacteria 2) algae and fungi

3) bacteria and fungi 4) fungi and mosses

IO ARITS IRGUIRATST dTesacld Wlettefddh! I U sget gidrd /aIdrd ?

31) P I AU 9=

9) TTeM UM fhar 9= AT

P) UHIvEST B

Tt S :

9) (31) Heh R) (1) aMfor () &k 3) (31), (3) ST (®) %) () MO (&) ek
Which of the following leaf modifications occurs/occur in desert areas to inhibit water loss?
a) Hard and waxy leaves

b) Tiny leaves or no leaves

¢) Thorns instead of leaves

Answer Options :

1) (a) only 2) (a) and (b) only 3)(a), (b) and (¢) 4) (b) and (c) only
RgTelerIeh! PIUT TeTTell 3R Aotaieft Sgsiias deer TRefid &% Tddrd ?

a) fFefe=g b) gReft c) e

IR SR :

q) (a) 3R (b) Beh  ?) (a) M (c) 3) (b) 3T (c) 8) (a), (b) 3T (c)

Which of the following have species that can establish symbiotic relationship with other
organisms?

a) Cnidarians b) Fungi ¢) Protozoa

Select the correct answer using the code given below:

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
3) M&Ph

SR grel AT A fORT SRATE, TR JRRIel Bl dalt TRRAT SSTRI TadgT AT glerdleiiges
AT DHIeHHT THSUINIG! AU QraIdT 3MTg. Wietletddh! 3R aft /uaft epiord /3med ?

37) Uc Pl IRPIET &) PHAT 3T P) Pl HET b
Tt SR
q) (9) h Q) (31) 3nfor (p) 3) (9) 3nfor () 8) (1), () 3for ()
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If you walk through countryside, you are likely to see some birds stalking alongside the cattle to
seize the insects disturbed by their movement through grasses. Which of the following is/are
such bird/birds?

a) Painted Stork b) Common Myna ¢) Black-necked Crane
Answer Options :
1) (b)only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

EIIALE Tl Wellefieh! o Jogmed &g I ?

3) dcdrgo ¥) IR P) IR
g IR :
9) (31) Hh ) (1) 3rfir (3) weh

3) (37), (3) 3T (B) 8) IITUDT PIVATE HE gRISRAIN UIfgel ST 2Mehd ATal

The phenomenon of hibernations can be observed in which of the following kinds of animals?

a) Bats b) Bears ¢) Rodents

Answer Options :

1) (a)only 2) (a) and (b) only

3) (a), (b) and (¢) 4) Hibernation cannot be observed in any of the above

HEPIGR Jehsel STUITE! SR DHH! HRUIRIIC!, WIeHIeueh! PO i ITeT /el SRIRAAT AT

TeTesdl 3Mfe FRfa Rl ?

37) goTEn ) HMie F) TMfe

IR SR :

q) (a) ST (b) Beh  2) (a) AT (c) 3) (b) 3o (c) 8) (a), (b) 3T (c)

To reduce the chance of being captured by predators, which of the following organisms rolls up/
roll up and protects/protect its/their vulnerable parts?

a) Hedgehog b) Marmot c¢) Pangolin
Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

) fdaes
SIS IRIRIT FHId, Wieilelueh! DIVl UhRd Sita faafed aRuR Sig/Sfta wgud
3Nl AT ?
37) BRI ) Reft P) JaciaT
it S :
q) (1) 3T () ®eh ) (31) 3N () 3) () anfer (@) 8) (31), (9) mfor ()
With reference to the food chains in ecosystems, which of the following kinds of organism is/are
known as decomposer organism/organisms?

a) Virus b) Fungi ¢) Bacteria
Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

HERTE ISTUT AR WaT gausten amdt - aRfRARH!, Sra-fafdeaar snfor gamm aga / qu



Q)

2)

)

1)

Q)

2)

For Private Circulation Only

el P uroft gverds /faed 3mRd ?

a) Mg b) Stefifthar c) fafodEs

d) Il 918 e) dresdt

qift S :

9)b-c-d-e-a Q)a-c-e 3)b-c-a-d-e $)d-b-c-a
Which of the following are detritivores?

a) Earthworms b) Jellyfish c¢) Millipedes

d) Seahorses e) Woodlice

Answer Options :

I)b-c-d-e-a 2)a-c-e 3)b-c-a-d-e 4)yd-b-c-a

3) fAwRT 9 TafeRUTRT SRIgE — RO g gRom™

vafaRufta sRige —HRor
TRITaRUNY e —9RomH

EXIEN

q) GITERUNT SRIGAT— PRl
e U2, TITERUIT ITRIRIBRIE Ffshar FU, TadNast! ... o HTSiEl AU g AT,
q) e AT gReft R) FIIET ITDBILT SMOT GIep Teaial! HHRdT
3) gyoft wafer anfdr am 8) AT PR TTer

In the grasslands, trees do not replace the grasses as a part of an ecological succession because

1) insects and fungi 2) limited sunlight and paucity of nutrients
3) water limits and fire 4) None of the above

HRAT T FHGTAT UTOT gFIhRep ATesTeAT &R didieeet (T 3. IT Ie-Td BRep e DIV 3R,
ehdrd ?

37) WK BIVIRT UISeh deardl AT,

q) UadTedTd SAfHaRe dTguIRT gTvTale

&) TG BIUTR AT

gt SR :

q) () amfr (&) wh ) (31), () M (®) 3) (F) Feh 8) (31) 3or ()
There is a concern over the increase in harmful algal blooms in the seawaters of India. What
could be the causative factors for this phenomenon ?

a) Discharge of nutrients from the estuaries.

b) Run-off from the land during the monsoon.

¢) Upwelling in the seas.

Answer Options :

1) (b)and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
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SMSAR ALY A, § PRI 3 ?

q) TeThe e AT TeNTesel AR ThaT FRUIRIS 8 U UITaRUIRe sl 3Te
Q) THGRATCMA dt MRS faenRid dhetet & TS Te 318

3) 2 S SIagtH QUIRT ST ATl ST 31Te

8) TARIRRMAYT JPd ANeled SaTeaR =0 SauaTd g SITYf~d qae 37g

Recently, “oilzapper” was in the news. Whatis it ?

1) It is an eco-friendly technology for the remediation of oily sludge and oil spills
2) It 1s the latest technology developed for under-sea oil exploration

3) Itis a genetically engineered high biofuel-yielding maize variety

4) It is the latest technology to control the accidentally caused flames from oil wells

"' TR TR AT IS SR SMdhal STARIHE ... T FdIT HSHI Pedl STl

9) ST 3Feh IRTHE SARITET SIGTYG AR 3etel! QAT AT AIGHT THTONER SR el -
T AHIPeR, M TN TS IRETIT JHAM ghss 2ehd.

R) &Y SUE AN SATIDBR SRR 3eh TSTIch T AIGHT HHIUIER A1 ST, T UG Aofiehe
Higera gedielt Sepifterd FHre caR groard! i,

3) STl 3Fieh HNTHEN Siehiageal JUTRd Uil AlGaT JHIVIGR dNEs d_ul 3701 ST 3ok
AR AT SANaelell AT QUl SaTes Iied] o5 fUehiea] a-dclt 8 ghss aehara ST
Stafafadr 98 8 2.

8) AMaSIIe ~afiih. AT STcreNyur/IRaR, foRge /Jod™, ¥fifes s1far, gReawerar e,
TS AN STRTfh g 9ol

The term “‘sixth mass extinction/sixth extinction™ is often mentioned in the news in the context

of the discussion of ....

1) Widespread monoculture Practices agriculture and large-scale commercial farming with
indiscriminate use of chemicals in many parts of the world that may result in the loss of good
native ecosystems.

2) Fears of a possible collision of a meteorite with the Earth in the near future in the manner it
happened 65million years ago that caused the mass extinction of many species including those
of dinosaurs.

3) Large scale cultivation of genetically modified crops in many parts of the world and promoting
their cultivationin other Parts of the world which may cause the disappearance of good native
crop plants and the loss offood biodiversity.

4) Mankind’s over-exploitation/misuse of natural resources, fragmentation/loss, natural habitats,
destructionof ecosystems, pollution and global climate change.

GTefieTidh! PIAT Tl Saiedn Iapidiar IRUMH STl ITTaT ?

3) HETGH Wt 9) et @

gt SR :

q) (1) wh ?) () wh 3) Qe (3n) Smor (@) ) (31) b (&) <l Tl
Which of the following phenomena might have influenced the evolution of organisms?

a) Continental drift b) Glacial cycles

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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?) GafeRvi SrAger - gRomM
PIE DRUTHS, HATRRIT TSI Al AlGH 9T eI, QT FH YRUH /IR B
3R] TR ?
37) PTe! FIH AT RATOeR fauRd gRum g eradl.
) PRI ANGE Doled] IRYTT RS FHMHL T 16 8res 21eh.
&) I PIal TSI Heell, Dol 3T Geil Al HHT & 2T,
it S :
9) (@) wH ?) (@) Sfor () 3) (a1) amfor () 8) (31), (3) amfor ()
Due to some reasons, if there is a huge fall in the population of species of butterflies, what could
be its likely consequence/consequences?
a) Pollination of some plants could be adversely affected.
b) There could be a drastic increase in the fungal infections of some cultivated plants.
c¢) It could lead to a fall in the population of some species of wasps, spiders and birds.

Answer Options :
1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

PTE! audl AR JTHIOT AT TIeRT AT SRAciell ATUTS 3TSThldl $icd fGHard. I/ 89 ...
3TTR.

9) T 3MMehHP TSGR T BRI 19

R) TRER Al AT AR RTER IR PRUIRAIG! dToRelel A6

3) T IUASY IR BHARAT

¥) UM U AU, Fdd IOT BTcdh T

Vultures which used to be very common in Indian countryside some years ago are rarely see n
nowadays. This is attributed to ...............

1) the destruction of their nesting sites by new invasive species

2) a drug used by cattle owners for treating their diseased cattle

3) scarcity of food available to them

4) a widespread, persistent and fatal disease among them

Rt eaferRen, T Feidier SRR cAhaver HHt BIvard AHTT HRO IV AR ?

37) TEIidR ERUl 30T SRoRT STel,

¥) TUHR TR Aha@qed die.

) P TR ST 3TSHUI,

g) eI Ut U ard S W SNl IR G AT aToR.

gt SR :

q) (31) Smfdr (@) weh ) (8N), (3) ST (D) 3) (30), (3) M (3)  8) (31), (), (F) (V)

Other than poaching, what are the possible reasons for the decline in the population of Ganges

River Dolphins?

a) Construction of dams and barrages on rivers.

b) Increase in the population of crocodiles in rivers.

c) Getting trapped in fishing nets accidentally.

d) Use of synthetic fertilizers and other agricultural chemicals in crop-fields it the vicinity of
rivers.

Answer Options :
1) (@) and(b)only  2)(a), (b) and (c) 3) (a), (¢) and (d) 4) (a), (b), (¢), (d)

HERTE ISTURT AR WaT gausten amdt - aRfRARH!, Sia-fafdeaar snfor gamm aqa / 0
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TR 3MTRAIehRUl aTad 3TR. &) el Ridd PRl &7 31 ?

37) TRISRIHh HICiae T aleaR 3T SRoameR fqufa aRem gisd.

¥) YdTesredT dTgeR 3T SPvameR fauRa oo giget.

P) BRICIIIEI D o] Fcicd] Plal YAl SHvATeR fauRd aRum giga.

3) Ples Hifem anfor e Hffdier fouRa aRum g,

gt SR :

q) (31) &Mfr (3) BB ) (31) MM (P) Fh 3) (3), (D) N (3) 8) (), (), (), (3)
The acidification of oceans is increasing. Why is this phenomenon a cause of concern?

a) The growth and survival of calcareous phytoplankton will be adversely affected.

b) The growth and survival of coral rees will be adversely affected.

c¢) The survival of some animals that have phytoplanktonic larvae will be adversely affected.
d) The colud seeding and formation of clouds will be adversely affected.

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

TERITRTCST hRICIiae el BRI JuIol 8 S BRI Blsdt ?

37) e Rep Feud FHgeR fquRa giRomT gisa,

¥) AENITRIAIA 31 ARgediar fauRa gRumT gige,

%) AEATRIAT IO 8T BHTeld! A Blsdl.

Tt S :

9) (31) Heh R) () amfor (@) &k 3) (31), () ST (P) %) (@) MO (&) Fch
What would happen if phytoplankton of an ocean is completely destroyed for some reason?
a) The ocean as a carbon sink would be adversely affected,

b) The food chains in the ocean would be adversely affected,

c¢) The density of ocean water would drastically decrease.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

TN 37T STURleRs) AR 3 BRI SIGAe Sifics Foi Reréed dmuRel SN,
ARIEES YATaROETEIT e aevar BRU BT 3R 2
31) O IITERU ST T BN 3Tdd UfiRIEd 3RIAT.
¥) d gg 3Mfor yofl I IR FaRid 8 2hdTd.
gt SR :

q) (1) wh ) (@ FH3) T (3N) 3T () 8) (31) bt (3) e T
Brominated flame retardants used in many household product like mattresses and upholstery.
Why is there some concern about their use?
a) They are highly resistant to degradation in the environment.
b) They are able to accumulate human and animals.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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TR AT ST ‘ARIshIdIed g5t Aot RiaT o1 3 ?

9) 7 AR 9IRS BIHPRS HMe ST,

R) O g eAHed TEedT BRI BRI el ST

3) O ST QT fUehreT TSGR QAT YuaTSah g SR

8) T Il 3T W TEU dTIRel S

Why is there a great concern about the ‘microbeads’ that are released into environment?
1) They are considered harmful to marine ecosystems.

2) They are considered to cause skin cancer in children.

3) They are small enough to be absorbed by crop plants in irrigated fields.
4) They are often found to be used as food adulterants.

GTefieTdeh! PV PHRPECH FTTET IV YRRUIRT PHROMT 37T ?

a1) gefY q) Yo IS0l P) A g) ORI argu
qift S :

9) 31,9, P, S Q) 31, 4, b bh 3) 31, & Bh 8) §, b, S Bh
Which of the following spread plant diseases?

a) Birds b) Dust blowing ¢) Rain d) Wind blowing
Answer options :

1)a,b,c,d 2) a, b, c only 3) a,c only 4)b, ¢, d only

) IRV
ot~ PRI SRITHE ¢ SPIRICH HaTe] Wieflel T Siofid auiy o~ oRqg, F9e, R,
STA AT ARpfereh. WTeflerid PIveh AaféT et amg ?
q) 3Fe ST T ST R) TAMT ST INT 0T
3) UIvd ARIBenT SMOT ies TRETOT g) fafaemar Ixgor

The Millennium Ecosystem Assessment describes the following major categories of ecosystem
services-provisioning, supporting, regulating, preserving and cultural. Which one of the following
is supporting service?

1) Production of food and water 2) Control of climate and disease

3) Nutrient cycling and crop pollination 4) Maintenance of diversity

Sifae arffeas armoft (BOD) & ... A1 T HHD Py 3R,
9) el Sfffaas = JHT0T JIofor

Q) o IR Sfffaas Uraedt HieTor

3) STl IR UGHUITE HSMHTT

8) S ST TR SRS UITas Hedide ot

Biological Oxygen Demand (BOD) is a standard criterion for ........
1) Measuring oxygen levels in blood

2) Computing oxygen levels in forest ecosystems

3) Pollution assay in aquatic ecosystems

4) Assessing oxygen levels in high altitude regions
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SNORRTERT HE@r! Mok STHF ‘Hirga™d Yhls’ 3id 3MUTell ok T 3ref Ry gial ?

q) HITe EEIEUTHD UIUTIG Q2T UITaRUMRI FaouTdiel Ieof T8l Med, &Il 3TTed fohdT GIUaTl! STy
3.

Q) ST ST TTUTRIGS STRTT 31T T S UTUTRI5 TSITTAT hIoTae] U fhellHiexeaT J1Td PhivrcaTgl e
gIeTerT TR HRUIRIGH BRIGT dhell T,

3) UUIY® U ST Pral [AfTE AT RGBS AT T IRUR[ER 3Tdeiey 3.

Q) ITell ‘ge RS Arge’dT g1 SuATd 3Tl IR,

If a wetland of international importance is brought under the ‘Montreux Record’, what does it

imply?

1) Changes in ecological character have occurred, are occurring or are likely to occur in the
wetland as a result of human interference.

2) The country in which the wetland is located should enact a law to prohibit any human activity
within five kilometers from the edge of the wetland.

3) The survival of the wetland depends on the cultural practices and traditions of certain
communities living in its vicinity and therefore the cultural diversity therein cultural diversity
therein should not be destroyed.

4) Itis given the status of “Word Heritage Site’

"Meiies AT TgdTet’ SMUT ‘PRI AT ofgaral’, Hh el ol G| dl, ¢ ... Jreeft
q) GCAHD GUROT Q) T Pell JIRRGST  3) & SIS0l ¥) fegy ©Ter Re
‘Gadgil Committee Report’ and ‘Kasturirangan Committee Report’, sometimes seen in the news,
are related to .......

1) constitutional reforms 2) GangaAction Plan

3) linking of rivers 4) protection of Western Ghats

8) JATRUIGRE: fABRT - HaHH, BRIe, TATERYT IRYGT, $3RIY

?)
3)

)

“afifes ATeRITRIR v = duRiTe WERT

SITTfores gafaRor afRear

GIfaRUIfasIs BRI

TaRUT HaLHTd BRI SRTT 1Y / JTF / STRTfereh YTeodtaiel HeresT a Wl

q) Tfiie ATeFRIURIE fA9Ne: TERITRI SHERT
ATt PIorar uaty ' fiaifnT’ a1 e Hataps que Rl ?
q) BT IaTe gPI-theal! M1 JAfaRUIRT JTdet 3med 3reft gehrdt B1g ureor
Q) 2T a1fSes 31y faaRunmed yaiaRufiy /wafaruiia Taar @HEer 9 oo
3) TR GfaurET e AT qafaRiiy gRumHies Geter avor
8) ARPRI Tehed /PRIHHHE] FTaRUMR GRS ARl avdg ol
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Which one of the following best describes the term “greenwashing” ?

1) Conveying a false impression that a company’s products are eco-friendly and environmentally
sound

2) Non-inclusion of ecological/environmental costs in the Annual Financial Statements of a
country

3) Ignoring the disastrous ecological consequences while undertaking infrastructure development

4) Making mandatory provisions for environmental costs in a government project/programme

IRIRTS TSI & Wletiedeh! BT 3Mg ?

9) YRE AT PR AT SfUigR

Q) TG 3FAY TR diEieh™ Alfecdral fAarT

3) A TN WU/ SIS AT &= e

Q) ST /<R3 TR g Toiars! Hior TTeur Sueted] ol

"Biorock technology" is talked about in which one of the following situations ?
1) Restoration of damaged coral reefs

2) Development of building materials using plant residues

3) Identification of areas for exploration/extraction of shale gas

4) Providing salt licks for wild animals in forests/protected areas.

‘aoieT 29’ T wewld, defietlt TR Uifeel S, ETeftel fu™ faaR &
31) g emead faeprATATSt SRTfcres gpelt JSHT 3MTg
¥) SNe=aett Y STeledT Mead [Aprirasicl ST fReR gRscd A ST el

RSB DU T sRISR 312/ 3MMed ?
9) (37) Heh R) (¥) Beh
3) (31) fr (@) el 8) (37) fobar (9) SgIdr ATt

With reference to ‘Agenda21’, sometimes seen in the news, consider the following statements :
a) Itis a global action plan for sustainable development
b) It originated in the World Summit on Sustainable Development held in Johannesburg in

Which of the statements given above is/are correct?
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TR TRIfChh 8T ARG Aot SHeheTaR Ueh SMSad SURT T STl JT ey, Wi’ piordt

o™ sRIR /3R ?

37) SRIM TRIthheFHE TRETAT ST, YSHITAT QRN ST diGeredT YRIT dTuR bl SThSs e,

) MR TRAfthheTYd FHioT g Saelidl IR Bk RGN Pled SIIGISS
3R

%) SRR TRIthpeHYT FHfor gR Sgefier arg U Iwrr FfFTIS amRet ST aehdTd Wy

it SR
) (31) weh Q) (31) mfr (3) e 3) (@), (3) 30 () ¥) (F) 30T (B) heh
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Biomass gasification is considered to be one of the sustainable solutions to the power crisis in

India. In this context, which of the following statements is/are correct?

a) Coconut shells, groundnut shells and rice husk can be used in biomass gasification.

b) The combustible gases generated from biomass gasification consist of hydrogen and carbon
dioxide only.

c) The combustible gases generated from biomass gasification can be used for direct heat
generation but not in internal combustion engines.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

IRER JERTAT IU—IATGH AT SUGThelT FSH, Wletledehl PIvrd A aRIeR 31/ 37med ?

37) SFTET AR Bl FFHCATGT IART SUT FgU el ST 21l

9) Rt IS Gl SUGTRIC! HAICRRTET AR his¥eihud! U UL hall S 2Tehl.

P) 3T RIS AefRIaT IR el SIS bl

Tt S :

9) (31) THh R) () 3o (4) &k 3) (31), () 37O (B) %) (F) M (F) Feh

With reference to the usefulness of the by-products of sugar industry, which of the following

statements is/are correct?

a) Bagasse can be used as biomass fuel for the generation of energy.

b) Molasses can be used as one of the feedstocks for the production of synthetic chemical
fertilizers.

c) Molasses can be used for the production of ethanol.

Answer Options :
1) (a) only 2) (a)and (b) only 3) (a), (b)and (c) 4) (b) and (c) only

SR T St A A Snfr quitr Ideet el TR T QTR BT URUTH BSeT ?

37) 9t HIIHeT UTugTeAT TRSTraT Ueh HRT AiSUTudred] JHaiiRIgR HAdel STTsel.

q) YT TR YARM B et fhIRT ERTT IOl TRl AR Gl facie e qul dhetl
STSeT S HERINRIAT U0 dIoR ROIRT URATT <Td.

P) eI STHRAT |d Tl gludhedy HRAdel Teeft Siecan S,

) BT IR WISTIATATS AT STel IUATAATS! HIew AT Tu—Ae THIUIRATS! dete @t

qUT WRUTS APRBGA el STTRel.

gt SR :

q) (1) wh R) (81) omfdr (3) wh 3) () ST () Beh  8) (1) MO (8) hich

If National Water Mission is properly and completely implemented, how will it impact the country?

a) Part of the water needs of urban areas will be met through recycling of waste-water.

b) The water requirements of coastal cities with inadequate alternative sources of water will be
met by adopting appropriate technologies that allow for the use of ocean water.

c¢) All the rivers of Himalayan origin will be linked to the rivers of peninsular India.

d) The expenses incurred by farmers for digging bore-wells and for installing motors and pump-
sets to draw ground-water will be completely reim-bursed by the Government.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (c) and (d) only 4) (a) and (d) only
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AR HERUT
i, T AR wieRviiagear Tt 9 /IcAd SR el SITdl ST SRR Bl AHer/
STHTCT tho SoMIT SISl AUt SATadId. Wietierthl v TG /ST 37TRd ?
q) TS M AT=T ) TS AT BRG 3) Sl 30T At 8) TEIRAT 3O STETRAT

Every year, a monthlong ecologically important campaign/festival is held during which certain
communities/tribes plant sapling of fruit-bearing trees. Which of the following are such
communities/tribes?

1) Bhutai and Lepcha  2) Gond and Korku 3) Irula and Toda 4) Sahariya and Agariya

foRITaTeh! Ugd Wiefiatudh! a1 TERATS URig 3TTe:

q) &P SAOT 37ef L WA ATIRAIRID QA el T

R) ST GUTRT FRc! aToe ST faehRT

3) I AT g At FfEh

8) PR AT YT FHGRAT YSHNTER Uad SHord! A13au

The “Miyawaki method” is well known for the:

1) Promotion of commercial farming in arid and semi-arid areas
2) Development of gardens using genetically modified flora

3) Creation of mini forests in urban areas

4) Harvesting wind energy on coastal areas and on sea surfaces

"HINTC Pl IICRIT TSt 2T Hewfd, Wiefietudh! PIvrd Iem SRR 3iTg/3Ted ?

37) & TRBR, TGN, TR FHIST 30T TA1Np bt STy TRiieRt 31

9) ATHET I FACATIAIG! GIIGRUIGRD ST A el el [IhRia dRugNS! o faemdis,
Jafthes el ST AT arfienul FMUHTT TdeledT TRUMT SMMfH Aed gRad.

%) B ST AT 'S+ (BRI ST BRYC FEUSIFHET IS HHl Ixul+ )’ TITimed SMffas
SATfOT TifNeh Gfeem YR Hed b,

Tt S :

9) (31) SMfr (F) Hh Q) (1) AT () 3) () snfor () 8) (31), (3) anfor ()

With reference to ‘Forest Carbon Partnership Facility’, which of the following statements is/are

correct?

a) Itis global partnership of governments, businesses, civil society and indigenous peoples

b) Itprovides financial aid to universities, individual scientists and institutions involved in scientific
forestry research to develop eco-friendly and climate adaptation technologies for sustainable
forest management

c¢) It assists the countries in their ‘REDD+ (Reducing Emission from Deforestation and Forest
Degradation+)’ efforts by providing them with financial and technical

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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"1 ST 3T HNFGA’ T e, @letieueh! DIvR f[TUM aRIeR 3MTed ?
a) 2098 ALY JAICE I FARHC ARCHED T UfReiar HIdT udTd et 8.
b) STATT 19 ATGGUIRATS! M e TeledT ST pollageel & STERAHT GoIRT &l
¢) & PRIYR FUTPRD AARTET STERAHT 31,
d) T FRBR, AIGAT BT 30T AT TSR AT et 377,
e) MRd ITT TNYUIded! FTeRY HROTIeh U gieT.
Tt S :
1)a,b,c,damfre 2)a,b,da3nfre®wdh  3)a, b 3Mfr d veh 4) b, d 37fr e Bh
With reference to the ‘New York Declaration on Forests’, which of the following statements are
correct?
a) It was first endorsed at the United Nations Climate Summit in 2014.
b) It endorses a global timeline to end the loss of forests.
c) Itis alegally binding international declaration.
d) Itis endorsed by governments, big companies and indigenous communities.
e) India was one of the signatories at its inception.

Answer options :
1)a,b,c,dande 2)a,b,d and e only 3)a,band d only 4)b, d and e only

SR OST=Ia ST ISIhica e SiiTel & geatd! Huhw RAde, TR Tehrd 3iG ool YateaT JAfUSTHHN

B FRAT. UTOTIeS HQQN] Tefiaiieh! ot wf Jax U Tmef o ?

q) UTUTIR UGNl STeTashed SHRTIGR YToft aTgul, JUSRaTe( uroft feRuur a1for srefie ram FHae
gl

R) UTUTY HeQTTd QaTes g % Ul SR TeR H, SheciRM, Aok, Tall, TRIjgY 31fr e
Toft eI

3) T Il IRGUATT 30T A1 R HRUIRIS! UTuIefes ST He@rd! YHen! SoTadrd.

8) UIUIIE FQaiel STeTaR I-vdcl] Sis. YT 30T 3Aciieh UINeh Gl QY B

"If rainforests and tropical forests are the lungs of the Earth, then surely wetlands function as its

kidneys." Which one of the following functions of wetlands best reflects the above statements?

1) The water cycle in wetlands involves surface runoff, subsoil percolation and evaporation.

2) Algae form the nutrient base upon which fish, crustaceans, molluscs, birds, reptiles and mammals
thrive.

3) Wetlands play a vital role in maintaining sedimentation balance and soil stabilization.

4) Aquatic plants absorb heavy metals and excess nutrients.

‘TR The gHfIfeeg TR AT HRIT oiewhd’ R IIwATUT el STId

9) IfArRg farT o Q) INARTERT Arorfeft

3) TgH Y GATIRUT HRIHH ¥) ST deb

‘BioCarbon Fund Initiative for Sustainable Forest Landscapes’ is managed by the
1) Asian Development Bank 2) International Monetary Fund

3) United Nations Environment Programme  4) World Bank
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IR TRBR H gH AN WeATe <. AT I Tged B 3 2

37) ¢ AN gu FRIGT FRuarT il arsddieRuTe Ufiey FRUI Aed Rl

) g JRIfSSierdT g Al 3TR.

%) I it gour amR 3N o S ST o NI NIEUIRT 3G 3TTR.

) M s DAEAIRID G 3.

gt SR :

9) (@) ST (&) ®H  2) (30), () M (&) 3) () Fh 8) (1) amfor ()
Government of India encourages the cultivation of ‘sea buckthorn’. What is the importance of
this plant?

a) It helps in controlling soil erosion and in preventing desertification.

b) It is a rich source of biodiesel.

c¢) It has nutritional value and is well-adapted to live in cold areas of high altitudes.

d) Its timber is of great commercial value.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

WTeflertd! HIv R SRaRa ‘HiF fear ez ke Aalfepy aui /auH & ?

37) yataRufR RIS ST e el ST T SoieHed AHIfAE djor] TGR ‘M TS’ e ol

) PN IHIGAIT AT PRURIIS! GANT BT Shici G RUl SlvIehwr HITSITT ARGt 371 JRem GAf3Ed
EES

&) ST JATBTe GAAarId ol 37for aftiq ool ST garHIdiiel Iaeti =T SFdberal ST e
SR FSTGR TR <ol

Tt S :

9) (@) 3T (F) Hh R) (), (@) O(F)  3) (F) Fh 8) (31) 3T ()

Which of the following best describes/ describe the aim of ‘Green India Mission’ of the

Government of India?

a) Incorporating environmental benefits and costs into the Union and State Budgets thereby
implementing the ‘green accounting’

b) Launching the second green revolution to enhance agricultural output so as to ensure food
security to one and all in the future

¢) Restoring and enhancing forest cover and responding to climate change by a combination of
adaptation and mitigation measures

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

?) SIFIfiep YR yRyer

Ram+20 Ry U BRI, ST 3Fdg ST I Bell Sl ?
9) g arHEa fopRIaRIe W g RS 318

?) g S IR Feed! TR §3& 31

3) B TaHM ISRl JAR—IRBRI U-erd! aReg 3fe

8) & S ffdudediar sidemrar dewy <l uRee amg
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What is Rio+20 Conference, often mentioned in the news?

1) It is the United nations Conference on Sustainable Development

2) It is a Ministerial Meeting of the World Trade Organization

3) Itis a Conference of the Inter-governmental Panel on Climate Change

4) It 1s a Conference of the Member Countries of the Convention on Biological Diversity

"JARICS A1 Pg-d g PIeic SOCithehed’ o Agw /Hed PRI 37Te/3Med 2
a)wwwmmmmwmmﬁ%ﬂﬁﬁ

E)) ﬁwaﬁmaﬁwm@&m%ﬁﬁrsﬁ/ﬁaﬁa&%@aaﬁwmﬂﬁm@w
3Mfes FATUET AIGT | AIcy IR ¥ Rdl.

&) ITRACIERUITET GBI PRUINAIC! AT Alhred eI UITHTET oo, JRIRIqeaT GEIpHITG!
d FITEE IMME.

i SR :

q) (31) ST (3) Hh ) (1) AT () 3) (@) snfor () 8) (31), (3) amfor ()

What is/are the importance/importances of the ‘United Nations Convention to Combat

Desertification’?

a) It aims to promote effective action through innovative national programmesand supportive
inter-national partnerships.

b) It has a special/particular focus on South Asia and North Africa regions, and its Secretariat
facilitates the allocation of major portion of financial resources to these

c) It is committed to bottom-up approach, encouraging the participation of local people in
combating the desertification.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

ATefiel faum foamTd &

37) IERR Preg=2 I, YRATAT gelciicl Td UTuTIcs YSIId ARET0T 10T Haei avur URa IRBRAT
g afart e

¥) IR IfaeFraT AR SMUR YR WRBRA deote (Jae SMfor =yeveue) M, 090
TR drel 3R,

&) U0 ST (e 3Mfor 2IevTa) M, 090 F&d TRIARUTGR FUiRd Bedr aR i &
fehar aToTelle & Sl JHIaE SR,

RIDT PIvT I RISk 3R/ 38 ?

q) (@) o (&) v ) (31), () M (®) 3) (F) Feh 8) (31) 3or ()

Consider the following statements:

a) Under Ramsar Convention, it is mandatory on the part of the Government of India to protect
and conserve all the wetlands in the territory of India.

b) The Wetlands (Conservation and Management) Rules, 2010 were framed by the Government
of India based on the recommendations of Ramsar Convention.

c) The Wetlands (Conservation and Management) Rules, 2010 also encompass the drainage area
or catchment regions of the wetlands as determined by the authority.

Which of the statements given above is / are correct?

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
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3) TIERUIAYIS BRIQ
TafeRUT (IR PRSI, 9R¢E IR Wietlefdeh! I TRRAT TATIHT HRUATT 3Tl 37 2
q) HeR STeT AT Q) hERT oI IS
3) I WSter MRreRoT 8) ERT STl fIpRT T
Which one of the following has been constituted under the Environment (Protection) Act, 19867
1) Central Water Commission 2) Central Ground Water Board
3) Central Ground Water Authority 4) National Water Development Agency

wrefler e faarma &

TITERUT TREMUT HRIST, 99¢E HRA ARBRA IMUBR <l

37) TAIfeRUT TAREUITAT Ufehdid elepsIgqIITRl SasidhaT 3Mfor ot Sam wfehad 3mfor Amie arfided Sa o
[T

q) fafay Ediegd TafaRviiT UgNed I fhaT Ao IRUIIG! A TR Ul

RITDT PIUr fIU SRR 3Med /38 ?

9) (31) Bh Q) (d) Bh

3) Qe (81) <My (9) 8) QIIet (1) fobar (3) el

Consider the following statements:

The Environment Protection Act, 1986 empowers the Government of India to

a) state the requirement of public participation in the process of environmental protection, and
the procedure and manner in which it is sought

b) lay down the standards for emission or discharge of environmental pollutants from various
sources

Which of the statements given above is/ are correct?

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

"gP-AfRAfeE S = HeHid @ieliertd DIk UM aRIeR 3R/ 3Rd ?

37) wafeRuI-Fdeaefier & 7 a=aiia (FiRemr) S, 9]0 3 eNfid dhetel &5 3TTed.

¥) sh-afafeee 9 S TRUIrET g9 AT AFEED Ot avesdT |qd TR T4 fohameetrdiET
UfcraferT awor 3T

Tt SR :

q) (1) wh ?) () T 3) Qe (31) &M (3) ) (3) e () et T

With reference to ‘Eco-Sensitive Zones’ which of the following statements is/are correct?

a) Eco-Sensitive Zones are the areas that are declared under the Wildlife (Protection) Act, 1972.

b) The purpose of the declaration of Eco-Sensitive Zones is to prohibit all kinds of human activities
in those zones except agriculture.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

At RIS Jouia Afidht aidfa v el ame
9) 3Fe REM AU A PIIGI, 008,

R) IR Ao Febd (Fieult afor TRefor) srferfiam, 9]%%
3) YITaROT (EREI0T) PRIGT, 9%¢E

) gl (JREUT) PHRIGT, 99
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The Genetic Engineering Appraisal Committee is constituted under the

1) Food Safety and Standards Act, 2006

2) Geographical Indications of Goods (Registration and Protection) Act, 1999
3) Environment (Protection) Act, 1986

4) Wildlife (Protection) Act, 1972

'3TRR DI 3N WfFeHT IT UUITetIgR Wieflertdh! e Jogd HuarRiTe! Wiedrg fel S 2

q) JIfaRUr e AT QUK Sl =as RATIhienT e gt

Q) YRR Preg=e AT ' INCRRIFT TETAT UIUIIS YT’ Gferuiy eaeeema=

3) Frpe SifidiAed gt faeptea emraeicdt emsae gt

g) Mt AU AU TRl UHTa Jedieh

‘R2 Code of Practices’ constitutes a tool available for promoting the adoption of ......

1) environmentally responsible practices in electronics recycling industry

2) ecological management of “Wetlands of International Importance’ under the Ramsar Convention
3) sustainable practices in the cultivation of agricultural crops in degraded lands

4) ‘Environmental Impact Assessment’ in the exploitation of natural resources

R R ITTRIERu BIIeT, 090 BT YR ISTge-idiel Wlefleridh! PIur avgarett FHTTyor ah],

PO 3Tedl ?

31) FPRAft gafaRumaT JIRIBR, PHetd 29 Y o IRIBRMET Th YT 31

q) 3TITES 0Y(9) Y ST ST HeATUTRIC! TR el ATl UTcio! aTeauae!
ST TR

) P W3I(A) ST TG PATTHT! JTRIHI SIUDR 37T BRI

wafft S :

9) (31) Teh ?) (an) 31l () 3) (3) smfor (<p) 8) (31), () 3T ()

The National Green Tribunal Act, 2010 was enacted in consonance with which of the following

provisions of the Constitution of India?

a) Right to healthy environment, construed as a part of Right to life under Article 21

b) Provision of grants for raising the level of administration in the Scheduled Areas for the welfare
of Scheduled Tribes under Article 275(1)

¢) Powers and functions of Gram Sabha as mentioned under Article 243(A)

Answer Options :

1) (a) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

¥) TRITERUT HIHHTd BRIR I1Sd /1Y / SIRTf YrdetaRiel EeHT g =l

ST FRA BR Preieea™ 3Aith TR 3fe Tokal AR (IUCN) i a=g Sitasiq 3mfor gt

(CITES) =1 oY USTIchaT SARTERT ATIRTT HEHId, Wletiefdeh! PIurd [ aRieR 37Te /37Ted ?

37) ITUCN g ¥eh I T 3 312 301 CITES & ARpRAUTS STaRIERT ARR 378

¥) TUCN =9l TTarue ITH eI BhRUITIS! SHIRIT 89IRT thics Udhed TTeidd.

&%) T A HAetedt ARt CITES SRIGHRRT §U-eRe g, URq @ ML IER Brerd
I d e

gl IR :

q) (9) Bh R) (9) 3for () 3) (31) 3nfor () 8) (31), () 3for ()
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With reference to the International Union for Conservation of Nature and Natural Resources

(IUCN) and the Convention on International Trade in Endangered Species of Wild Fauna and

Flora (CITES), which of the following statements is/are correct?

a) TUCN is an organ of the United Nations and CITES is an international agreement between
governments

b) IUCN runs thousands of field projects around the world to better manage natural environments.

c) CITES is legally binding on the States that have joined it, but this Convention does not take the
place of national laws.

Answer Options :

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

AT Tt HiTIRATS! Ageh g SRishAd UN-Habitat =31 e Feid, v fAum aRisR

3Te /3Tl ?

37) Farare! T FaRT SRS AT SftT qafarviiagear fodbres ey oTiftl argRi=T Ui
QOIS Weh 1Y HgRTH UN-Habitat &7 37aRf dhel 31T,

¥) IR YfieR TR TRBR fhar wenfie ARt SiftpRt 3rmed.

%) UN-Habitat Hgh IR TUTeA=aT ThUT IfeqId ANGH ot TR et ol 371for JRiard fouar aroft
30T YT TSI FIAT TS <.

Tt S :

9) (31) ST (3) wh. ) (an) 3T () 3) (3) smfor () 8) (1), (@) smfor ()

With reference to the role of UN-Habitat in the United Nations programme working towards a

better urban future, which of the statements is/are correct?

a) UN-Habitat has been mandated by the United Nations General Assembly to promote socially
and environmentally sustainable towns and cities to provide adequate shelter for all.

b) Its partners are either governments or local urban authorities only.

c) UN-Habitat contributes to the overall objective of the United Nations system to reduce poverty
and to promote access to safe drinking water and basicsanitation.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

"Jecied SexeMA’ AT HaUE IR SeHid, Wiefleiddh! v fJem sRIeR 31R/3ied ?

31) 8 U INRIANTDHIT AT 3N Sff IR JRIALFTER FTeRY dRUM=AT ST TR dhetedT ST
UM dell 3R,

9) g 9 faopRid RuITAIS! SMfOT Ueh3a eRUAATS! &1 TRIER PRI R AT TagIRep ST
SYINT NN ERUMATS! FH aRUTRITSH .

it S
9) (31) Heh R) (¥) wch
3) arer (1) 37fr () 8) argrel (1) febar (@) el

HERTY ST AR AaT geuien amt - aRfRufedt, Sta-fafdgar snfor gam agar / 32



3)

4)

For Private Circulation Only

With reference to a conservation organisation called ‘Wetlands International’, which of the

following statements is/are correct?

a) Itisanintergovernmental organisation formed by the countries formed by the countries which
are signatories to Ramsar Convention.

b) It works at the field level to develop and mobilize knowledge, and use the practical experience
to advocate for better policies.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

M gRT =R (NGT) el Heyur fRiFv few (CPCB) Uaf 3 &/ 3118 ?

31) NGT =t T SRIEMM Flell 3fe TR CPCB <t (ftfc IRPRAT PRIGRT Q™ STl 37T,
9) NGT Wil = UeM d=d 371 99 el Weedrd 3ie! PH! dRUIRT Hed IR R
CPCB et 3oy f3fei<an Feeadel UicaTeT od STl Qediel gad! ure] GURUIT Sfe¥ Jad.

gt SR :

9) (31) Heh R) (¥) wch

3) (an) amfor (3) S 8) (1) febar (%) SI=iet el

How is the National Green Tribunal (NGT) different from the Central Pollution Control Board

(CPCB)?

a) The NGT has been established by an Act whereas the CPCB has been created by an executive
order of the Government.

b) The NGT provides environmental justice and helps reduce the burden of litigation in the higher
courts whereas the CPCB promotes cleanliness of streams and wells, and aims to improve the
quality of air in the country.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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) Safafderdr - YeheudT, UhR, a=aoiid o1 g

Safafderdr - Hpeddr, UhR
Safafaerdr - YRardle Rucht
CREIG)

=T gL

q) Siafdfdedr - JhedHr, UBR
GTefleTddh! IvTd fIem sRIsR 31Te/37Rd ?
37) Stafdfauar FTFmIa: 9 STenaT Jorrid DHHI STETLHE SR 3R,
9) YT SAREAT Siafdfaudr g AHad: STR Sared] gerid dHl STk SR 3R,
qift S :
9) (31) Bh Q) (¥) &h
3) QI (3r) 3mfor () 8) Qerel () fobar () =
Which of the statements given below is/are correct ?
a) Biodiversity is normally greater in the lower latitudes as compared to the higher latitudes.
b) Along the mountain gradients, biodiversity is normally greater in the lower altitudes as

compared to the higher altitudes.
Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

Stafafaerdr @iefier TR T 3@ YR S

37) AT e q) A yg REor ®) oI GIAR ) U wifieRo
ot SR

q) (3 3T () ®eh Q) (1), () AN (F). 3) (30), (@).3M (3) %) (3), (), (F). (8)
Biodiversity forms the basis for human existence in the following ways :

a) Soil formation b) Prevention of soil erosion

c¢) Recycling of waste d) Pollination of crops
Answer Options :

1) (@)and (b)only  2) (a), (b) and (c) 3) (), (¢) and (d) 4) (a), (b), (¢), (d)

AT &ETeT StafdfdeUdRaTe! @iefieTih! ST YTl 31—, 2Thdl ?

37) TellgeT aTfeT 9) IR fodeT
&) WD TSI TTHHOT ) MPTERTET YaR
qgif SR :

9) (31) 3T (9) HBeh  R) (F) AT () 3) (31), (@) amvr (8) ) (30), (@), (B), (3)

Which of the following can be threats to the biodiversity of a geographical area?

a) Global warming b) Fragmentation of habitat

c¢) Invasion of alien species d) Promotion of vegetarianism

Answer Options :

1) (a) and (b) only 2) (b) and (c) 3) (a), (c¢) and (d) 4) (a), (b), (¢), (d)
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) Safefaedr - YRdarier R

TR qaaRi FeTichean fafdeds gy |G 3Ted. Wiefied! PV PHRUT AT Teid Faid IR BRI
3R ?

q) I WRR IS ISl Pl SIS et I a1e 8.

Q) B TG Sta—HHMford &srdr Fh Mg

3) T Yo facefht anfor arehAe TeTIdieT IRad SHeien ATel

¥) T A EAGT PHT 3R

The Himalayan Range is very rich in species diversity. Which one among the following is the
most appropriate reason for this phenomenon ?

1) It has a high rainfall that supports luxuriant vegetative growth

2) It 1s a confluence of different bio-geographical zones

3) Exotic and invasive species have not been introduced in this region

4) It has less human interference

QI TR TR — Ueh SIRGSHE] I UTad (SAfSmTed) ot e e sicedett ST ), 37for gast o
STRUM NSAFE 3T — ST STATRIAT PRI S 3RIER ThHepTd fIef BT,
3T R G dTedid. g URAR J=isiia S7ftr Siafafdec Agwrd fohmr anfor WRféd &7 o1e. @
GTeTIcTueh! DU IR ehd ?

DREGEa Gl R) RS 3) TUER-FTIEER ) e

Two important rivers — one with its source in Jharkhand (and known by a different name in
Odisha), and another, with its source in Odisha — merge at a place only a short distance from the
coast of Bay of Bengal before flowing into the sea. This is an important site of wildlife and

biodiversity and a protected area. Which one of the following could be this ?
1) Bhitarkanika 2) Chandipur-on-sea

3) Gopalpur-on-sea 4) Simlipal

uf3em arc-sfiiedr STl sel-ami & Siafdfduce glcwic U SI@EUINIG! @eietdd! fiF
eyt TMeH el ofR. a1 Jeid Wieflerddh! v i ey I 3med ?

31) UoTTidT g ¥) gt gt %) Uiy
g) aifdp—a- Ry Agd 3) YT IMNBWUIT! &FdT /qHST

%) IO AT ST ZaMTIRIT gy HUATe gl g Jeaciidl &

TRt ST ATt T SIGR T g uRfRcelt Jeoam oot

Tt S :

9) 3, 9, B, SIAMIZ )3, SO HD 3) 3, HAMZHh ¥)d, S 303 Feh
Three of the following criteria have contributed to the recognition of Western Ghats-Sri Lanka
and Indo-Burma regions as hotspots of biodiversity. Which three of the following are correct
criteria in this context ?

a) Species richness b) Vegetation density

¢) Endemism d) Ethno-botanical importance

e) Threat perception ) Adaptation of flora and fauna to warm and humid conditions

Answer options :

1)a,b,c,dande 2)a,b,d and e only 3)a,cand e only 4)b,d and e only
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3) a=ISilg
Wofieddh! P Uit YRATd SRR 3eedrd ?
31) PIoT AT PReprar &) R P) ISURT WR g) feu fose

T SR :

q) (31) SN (9) W ) (31), (F) M (D) 3) (30), (@) 3 () ) (3), (), (®), ()
Which of the following are naturally found in India?

a) Black-necked crane b) Cheetah c¢) Flying squirrel d) Snow leopard

Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (¢) and (d) 4) (a), (b), (¢), (d)

RgTeAIeAtehT PIUTd TTofl qRATT AT RT 3TEesdrd ?

37) dRT Hd ¥) AR IRl %) foredt g 3) WRIER Hihs
R SR :

q) (31) 3mfor (3) weh R) (3), (3) T (B) 3) (3N), (9) 31 (8) ) (3), (), (P), (3)
Which of the following are naturally found in India?

a) Star tortoise b) Monitor lizard c¢) Pygmy hog d) Spider monkey

Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (¢) and (d) 4) (a), (b), (¢), (d)

STYCAT ST T, Wt eleh! DIV ST fAfTE HeURERIAT ‘FC TR’ FgUI BIfyd el 3118 ?
q) IV Ul Q) femmaer wear 3) Prlcd 8) HERTH

Recently, for the first time in our country, which of the following States has declared a particular
butterfly as ‘State Butterfly’?

1) Arunachal Pradesh 2) Himachal Pradesh ~ 3) Karnataka 4) Maharashtra

ATetleidh! PIUTAT WRART ITERE SereR moft 3mg?

9) G U R Q) 3iifored Reol g 3) AT Sifehd ) afare
Which one of the following is the national aquatic animal of India?

1) Saltwater crocodile 2) Olive ridley turtle  3) Gangetic dolphin  4) Gharial

AR JASRUT RS I’ T ST A pry/ 31 2

37) O HGTAT UIvATd I fhelHIeRudia dIguar |aH e

9) g WRECIR T ST

%) QI ST RT&dl AT UTablel R18_ Srebel Ta.

Tt SR :

q) (1) ST () B Q) (3) AN () 3) (@) sfor () 8) (31), (&) smfor ()
What is/are unique about ‘Kharai Camel’, a breed found in India?

a) It is capable of swimming up to three kilometres in seawater.

b) It survives by grazing on mangroves.

¢) Itlives in the wild and cannot be domesticated.

Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (c) only 4) (a), (b), (¢)
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RN GTefieTi! POl TQand Jelell ‘U 3T grifdel Qrea --fiie SIRETId Jfesudrd!
ST 3N ?

9) I ARANNE A% qTBIC R) ST 3T epredRET S fertery

3) ufee ToRcHeie fio Sereetar e g) ufem =

In which of the following regions of India are you most likely to come across the ‘Great Indian
Hornbill’ in its natural habitat?

1) Sand deserts of northwest India 2) Higher Himalayas of Jammu and Kashmir

3) Salt marshes of western Gujarat 4) Western Ghats

3R T o a1 Blesdierd BT He MR ?

q) N I 3T KERET TR LTS S 3T TR o6 &g I yeidiea Tadies U Afor
3rtf-gredc WA VIR 3P ITE.

R) 3MReAet rear FRFRATST RPR el ST TR el ATl PRRIMIS! IR el ST

3) MR eh URET YRATT ST 3e R fo teh ST YRATG STRicdTa 318

8) &R feelet faur (9), () MM (3) U PIUKIE RIR TG

What is the difference between the antelopes Oryx and Chiru?

1) Oryx 1s adapted to live in hot and arid areas whereas Chiru is adapted to live in steppes and
semi-desert areas of cold high mountains

2) Oryx is poached for its antlers whereas Chiru is poached for its musk

3) Oryx exists in western India only whereas Chiru exists in north-east India only

4) None of the statements (1), (2) and (3) given above is correct

Tefierdeh! PIoTelt faerm SRISR. 37Ted ?

31) HRIGIAT DIEl TSIl AMHERT TR,

) HIMTAT Pral TSIl MMPIeR! AR

P) ANRY TG TT0ITAT Plal USTct AMepIeR! 3.
T) AUAT Blal Uil fafdo=sT 3rad.

i SR :

9) 31,9, P, $ Q) 3, 4, B Bh 3) 31, & Bh 8) ¥, b, S Bh
Consider the following statements:

a) Some species of turtles are herbivores.

b) Some species of fish are herbivores.

¢) Some species of marine mammals are herbivores.

d) Some species of snakes are viviparous.
Answer Options :

1)a,b,c,d 2)a, b, c,only 3) a, c only 4) b, ¢, d only
TefeTieh! v UleTd 3Ted / 3Ted ?

31) g ) IRED PRI %) TeAGeld &Rl

gt SR

q) () 3Mfr (b) ek R) (1), (@) 3for (b)  3) (P) Beh ®) (31) 3nfor ()
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a) Gharial b) Leatherback turtle c¢) Swamp deer
Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (¢)

90) WIeUeh! DIV STIS!/STedT SRISR ebe! 3ATg/ 3MTed ?

RG] SufifesRear nesard
31) wf-fthrs AEwIR PR S
¥) MES Sifpd gD gl
%) CeIed fouaarl AioR 9 =
Tt SR
q) (1) Jmfor (@) ek R) (31) 3T () 3) (3) anfor (&) 8) (31), () 3Mfor (&)

10) Which of the pairs given below are correctly matched ?

99)

1)

)

Wildlife Naturally found in

a) Blue-finned Mahseer Cauvery River

b) Irrawaddy Dolphin Chambal River

¢) Rusty-spotted Cat Eastern Ghats

Answer Options :

1) (a)and (b)only 2) (a) and (¢) 3) (b)and (c) 4)(a), (b) and (¢)
TefleTdeh! eiord faem /= sRIsR 3MTg / 37Rd ?

31) anfIrTs g SafifRar e WRATdT JMeesdrd.

) e IS el ST NIBRT Teh HRATTE Qe

P) T AN IRTeieT TeT FAfifepRar heh WRAT 3Meaddl.

Tt S :

9) (31) wh ?) (8n) ST (3) b 3) (31), () SMfOr ()
Which of the statements given below is/are correct ?

a) Asiatic lion is naturally found in India only.

b) Double-humped camel is naturally found in India only.

¢) One-horned rhinoceros is naturally found in India only.

Answer Options :

1) (a)only

8) (3) 37T (&) Hh

2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only
YR geiiear dewld, @ielieiid! PIvrT fIum /3 aRieR 38/ 3med ?

37) gieaT el W Aigel SRId

) SR ST THYROT Sieaedl 2 Afg 3RY arehl.

%) Tl AR GATAT Yo T Ui I8 18 2l

$) YRAW JoTTHe gl Aailin TRAT R 3.

gl IR :

9) Wheh 37 3MUT § g) 3, P 3T § Feh

Q) Beh 9 MM S 3) Bh &
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With reference to Indian elephants, which of the following statements are correct?
a) The leader of an elephant group is a female

b) The maximum gestation period can be 22 months.

¢) An elephant can normally go on calving till the age of 40 years only.

d) Among the States in India, the highest elephant population is in kerala.

Answer Options :

1) aand b only 2)band d only 3) c only 4)a,candd only
TR FTR ARfiien it Wefierdht Pt ST sravarht waifies e o ?

31) 3RPIC TSI ITIRTY ) T I SaE

®) PR =sila IR 3) AN IR e

i SR :

9) Theh 37 37T § ) Beh § 3T & 3) & 37T & Heh ¥) Theh 3T 30T &
Which of the following are the most likely places to find the musk deer in its natural habitat ?
a) Askot Wildlife Sanctuary b) Gangotri National Park

c¢) Kishanpur Wildlife Sanctuary d) Manas National Park

Answer Options :

1) aand b only 2)bandc only 3) cand d only 4)aand d only

HRATAT Siafdfaec=n deid, Rie hIHReY, HiRfETe due, i-fuams ffiee onftl @Ee-ucs
VSIC g PRI e ?

9) yeft ) yofY 3) TRUCUR T} ¥) IHITR

With reference to India’s biodiversity, Ceylon frogmouth, Coppersmith barbet, Gray-chinned
minivet and White- throated redstart are

1) Birds 2) Primates 3) Reptiles 4) Amphibians

TefieTdeh! PO JTUITET 1C HuRT TSiiciear Suftell Feiftrd 31e 2

q) UT ST ST, PR T, e TS ST SRRATG Sl Med

R) PR ¥, e, & I M1 IT ST TS

3) fed fecar, Saceta g, 9™ A1 37T R (5547)

) Rig-J=e Aprhb, s gol, FIAM iR AT ficet

Which one of the following groups of animals belongs to the category of endangered species?
1) Great Indian Bustard, Musk Deer, Red Panda and Asiatic Wild Ass

2) Kashmir Stag, Cheetal, Blue Bull and Great Indian Bustard

3) Snow Leopard, Swamp Deer, Rhesus Monkey and Saras (Crane)

4) Lion-tailed Macaque, Blue Bull, Hanuman Langur and Cheetal

HRATT SMERURT FEIT HTOft ST =7 T @letierdeh! PIurd faum sRIsR 31e / 3med ?

37) T ATPRERT TG Hmoft 377,

) g Ayl IRAr fAARUgeR aieasd

&) FISia (TRET) BIRIGT, QY BT ST 9 ST ITel BracefR FRewr et et 3. Wieflal s
I IR IR e,

g IR :

q) (9) Bh R) (3) 3nfor () 3) (31) 3nfor () 8) (31), () 3for ()
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With reference to ‘dugong’, a mammal found in India, which of the following statements is/are
correct?

a) Itis a herbivorous marine animal.

b) It is found along the entire coast of India

c) Itis given legal protection under Schedule 1 of the Wildlife (Protection) Act,1972.

Answer Options :

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

IIIDIHI AT WRT &3 g WRAI HT0ft FoTreiiel =_afifes ey M. 1 HRIIT AT HToar! IR oM
PIVICTET GART U0 LT Thch STy € S AT JAR<Ied Ul 3fTel 318, &1 Wletterden! ot
oot 3RY Tl ?

9) AR S, e R) WRARSHel Med  3) AR IFgaR 8) YR feial

A sandy and saline area is the natural habitat of an Indian animal species. The animal has no predators
in that area but its existence is threatened due to the destruction of its habitat. Which one of the

following could be that animal ?
1) Indian wild, buffalo 2) Indian -wild ass 3) Indian wild boar 4) Indian gazelle

SR el ORiel T Rifiids SR IR 3RAde, TR HC SUITIIS! Wiatietueh! iurd fSehror 3T
AR ?

q) AR TR Q) Tg® Tt

3) Yfefee dema g) SIREeT

If you want to see gharials in their natural habitat, which one of the following is the best place to
visit?

1) Bhitarkanika Mangroves 2) Chambal River
3) Pulicat Lake 4) DeeporBeel
) I qERelt
TR SYfCTHeIRT AT FRGE 3Fiehal STIMHe Igd T bell Sl ?

q) AT 3eh AICITATUFHE HIGAT FHIUN TR Sl

R) ST WA T dTed T HATIel Siafafdudt HHl PRuaThs Tl el IRl
3) AT 31h PlehHTIAHHE aTuReAT STl

8) IR PR AT

Why is a plant called Prosopis juliflora often mentioned in news?

1) Its extract is widely used in cosmetics.

2) It tends to reduce the biodiversity in the area in which it grows

3) Its extract is used in the pesticides.
4) None of the above

SR Jre! fEHTeRIT MarT defTd, TR Jralell WTetierdehl iur aevdclt FRafifenien ared srfeard it 2
) 3MPH 9) SIS P) T

IR SR :

q) (1) 37T () weh Q) (31) 3N () 3) (@) afer (@) 8) (31), (9) mfor ()
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If you travel through the Himalayas, you are likely to see which of the following plants naturally

growing there?

a) Oak b) Rhododendron ¢) Sandalwood

Answer Options :

1) (a)and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

Y Fed' HeHid Wiellelil PIvr fum sRIsR 38/ ?
31) g ST YRATde Tt TG 3MGRUTRT J&i STl 3R,
9) ¢ SR YR St usi=g SiTeldler et qgedrd gal 3TTe.

it S
9) (31) Heh R) (¥) wch
3) (31) iy (9) el 8) (1) fobar (3) SErdr At

Which of the following statement is/are correct with reference to ‘Red Sanders’ ?

a) It is a tree species found in a part of South India.

b) It is one of the most important trees in the tropical rain forest areas of South India.
Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

Srarel St = (Gucchi)! =T AeHid SEE el ST, €IS @letieden Piurd /t fur/
A RIS 3T /3T ?

37) & U §Reft 37R.

9) B feATerITder BTl aHaE e,

) IR-Yd ARANde feTerre uaeanelt aasRieRar o=l dneas dell S,

Tt S :

9) (31) Heh ?) (®) T 3) (3n) sfor () 8) (@) AT ()

With reference to "Gucchi" sometimes mentioned in the news, which of the statements given
below is/are correct?

a) Itis a fungus.

b) It grows in some Himalayan forest areas.

c¢) It is commercially cultivated in the Himalayan foothills of north- eastern India.
Answer Options :

1) (a) only 2) (c) only 3) (a) and (b) 4) (b) and (¢)

ST <2 feATerd= e (RIS SrigRitiferan) a1 aeuciaT SugaddeTad STHoddT aied 37T
PR TR TN ... o osEd A SR MeHA TR,

9) HIRafaRIeRt aftwer Q) IRN-feia

3) PNIE ITNTATS IS %) PIUS HRIER

Recently, there was a growing awareness in our country about the importance of Himalayan nettle
(Girardinia diversifolia) because it is found to be a sustainable source of ........

1) anti-malarial drug 2) bio-diesel

3) pulp for paper industry 4) textile fibre
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WAt PIoTt fAer /=1 SRR 31”3 2

31) AR (FARED &) & Igh AR 1S 318

¥) fia 3me Sfémr snfdrmaed wenfes 3R

%) WRAN, qgcIeh el Heper fep=eplcs aHIgsT U el STl

®) 9Rd I anfor MRk o Fafa axar

3) Saged ATt MR enfor R e aTaR dett S 9]

gt SR :

9) P, S, 3 3, 9,P, 8,3 3)9, HIAMSHH ) d, ST
Which of the statements given below is/are correct ?

a) Moringa (drumstick tree) is a leguminous evergreen tree

b) Tamarind tree is endemic to South Asia

¢) In India, most of the tamarind is collected as minor forest produce

d) India exports tamarind and seeds of moringa

e) Seeds of moringa and tamarind can be used in the production of biofuels

Answer Options :
I)c,d, e 2)a,b,c,d, e 3)b, cand d only 4) b, c and e only

R, @letleTdehl PIURIT FHRAT ST ARTAM & T Je&f TSt Mg ?

) IWEHICITUIT 3T, TTeTS! et

R) SUBCHHTT R SiTet

3) SWBCIRT B Fgd S

) TIdTes TeTg FHNdsr Ser

In India, in which one of the following types of forests is teak a dominant tree species?
1) Tropical moist deciduous forest

2) Tropical rain forest

3) Tropical thorn scrub forest

4) Temperate forest with grasslands

YRl YepT fARE vend, wuifies ciiep e Sirerear e JaTeredl 3ielig Fotgd el v
TITRIETOT ST, SRISTAT 968 STl TRIc @ Yel Hoted gl ST, @ 3ifgaar ‘fotfeg we ot 7 ateward
9) HETerT Q) fearaa uear 3) SRS 8) AHEATY

In a particular region in India, the local people train the roots of living tree into robust bridges
across the streams. As the time passes these bridges become stronger. These unique ‘Living Root
Bridges’ are found in

1) Meghalaya 2) Himachal Pradesh  3) Jharkhand 4) Tamil Nadu
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¢) Siafafatdr HaeH - NRIRUY, ISR S, AT Uhed

Stafafaear Gae - ggdt 9 ydR
Safafaerdr wRevr - PRI

ST SE™

IARREY

T Yhed
SIRTfoIeh RTINS Stafafaerdr dag=

q) Siafafdedr Hae - Tt 9 TBR
AP Al [FAR AR JASTHET AR B 38 ?

q) TRICENTSEId SeTe R) TN elReehd IedTe

3) IO IS dellfeT 8) INTh STard Iedre

What is the application of Somatic Cell Nuclear Transfer Technology?

1) Production of biolarvicides 2) Manufacture of biodegradable plastics

3) Reproductive cloning of animals 4) Production of organisms free of diseases

TefieTdehl Pl IR AT ST-Hig, IGTe! AR IS ATel ?

q) SRR Rereg ?) IcHeRe Mé

3) I ST ¥) TSI JTIRTY

Which one of the following is not a site for in-situ method of conservation of flora ?
1) Biosphere Reserve 2) Botanical Garden

3) National Park 4) Wildlife Sanctuary

e TRIBRIARING, TIIISSE SIFRIEA aFRTd TR Beledl DIV Tl MM ?
37) T GPIoBTal AT PRUART HEH GRU|

q) I Uifte e aredn

P) AT WA IO WY FeIAHED IIGUIRT 3MfOT TehIerieivul hRUIRT & hRUIRITCH

T) I At Sh dIeIUITITS!

Tt W :

q) (81) SN (9) ) (31), () MM (D) 3) (30), (@) 3 () ) (3N), (), (®), ()
Other than resistance to pests, what are the prospects for which genetically engineered plants
have been created?

a) To enable them to withstand drought

b) To increase the nutritive value of the produce

c¢) To enable them to grow and do photosynthesis in spaceships and space stations

d) To increase their shelf life

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)
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AR s IR PRUITATS! aRietdd! PIvrd/ amdRel ST ?

37) HESTSHE IGR IMMVT BT PR,

9) RTINS JoY Je.

P) S IR

gt SR :

q) (1) wh R) (37) ofr (@) wh  3) (31), (3) M7 (&) ) () M (F) Heh
Which of the above is/are used to create transgenic crops?

a) Budding and grafting in fruit plants.

b) Cytoplasmic male sterility.

c¢) Gene silencing.

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

R) Slafafaerar W - PRI

HRAT, grasiia (HRE0T) SIRATFRM, 90 BT IR W i PRIATe Ueb HoTTcll FRI&rT |fv et

Teft, aR T 31t BRI Bl ?

9) T ATETSHETOT GRET0T fiesd,

R) T I1YS ST SIRIATT ATE!, Plel chl Sfea HREUIRAT! 3Ted ; AT AT ATl faaAra= I=gor
AR 3R,

3) g YRS Yol fafiE UeeRad! st aTe.

8) g1 Feuld R Fiffderal () 31 (3) gl aRIeR 3.

In India, if a species of tortoise is declared protected under Schedule I of the Wildlife (Protection)

Act, 1972, what does it imply?

1) It enjoys the same level of protection as the tiger.

2) It no longer exists in the wild, a few individuals are under captive protection; and now it is
impossible to prevent its extinction.

3) Itis endemic to a particular region of India.

4) Both (2) and (3) stated above are correct in this context.

ggSiia (TRE0T) SIfIfEH, 90 AR, PRGN UM dheledl Plal IRYIERT Wielletdeh! Ior

TTUT} PIVATE Schihgd IR dRal A ATE ?

31) aRara 9) YRR Sefl Med &) SHlell =4

Tt SR

q) (31) ®h Q) (3n) 3mfor (9) b 3) (31), (@) 3PN (B) %) () 3T () Peh

According to the Wildlife (Protection) Act, 1972, which of the following animals cannot be
hunted by any person except under some provisions provided by law?

a) Gharial b) Indian wild ass ¢) Wild buffalo
Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only
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Gleflehl PIUTET/d el PRSI/ 29Tl Stafafaerdr daemeft Teafig sme/d?

37) T 31T fFrRaid (F1EIoT) rRIgT, 9%%0

) xgmor 3for @t faery (Fraaer) srferfam, ak4uw

) AHIYe PRI, IRER

€) R a9 PrIal, 9]

qift S :

q) (&) efr (3) ®weh ) (1), (@) 37or (F) 3) (31), () T () ) (31), (W), (P), (3)
Which of the following Central Acts have relevance to/bearing on the biodiversity conservation
in the country?

a) Import and Export (Control) Act, 1947

b) Mining and Mineral Development (Regulation) Act, 1957

c¢) Customs Act, 1962

d) Indian Forest Act, 1927

Answer Options :

1) (@and(b)only  2)(a), (b)and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

Tttt PIvr fIer /3 sRIsR 31e/3med ?

31) TR gIoiia SR IR a7 g8 BRI FHIIE Peit 3R,

) RA HFE T AUARIE ISR UAT 3ol 3ATea.

%) DRI GATERYT, I SN T SGaT HATRT SMRIBAI0N St MTOT 37SH STOr SRgRArTe! e
g It oRd

Tt S :

9) (31) weh R) (an). 3T () Teh-3) (37), (@) M () ¥) (@) M0 (D) Heh

Which of the statements given below is/are correct ?

a) The definition of “Critical Wildlife Habitat is incorporated in the Forest Rights Act,

b) For the first time in India, Baigas have been given Habitat Rights.

¢) Union Ministry of Environment, Forest and Climate Change officially decides and declares
Habitat Rights for Primitive and Vulnerable Tribal Groups in any part of India.

Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

ST SREUTETS YRR BRI Aeqid, Wiefiefidl Hiurdt faem sReaR 3 ?

31) g=7 TToft & heh IRBRTT HIGTHRT TR

q) SiegT =g oI SR Sy el ST <egT T TTudTelT FRIET STeRIaRIaRd FRATTerTaTeRa! el
TREUITET g& fHesd!

P ) TRIET g=Iumoft SR A SHfIarITd) enepierie soamd Hidt STurgett aR, 3191 HUATe TdheUaRITe!

fohdT ARTIATATST T I/ BHROT 3.
it S
9) (31) iy () ?) () wh 3) (31) afor () 8) (P) Heh
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With reference to Indian laws about wildlife protection,which of the following statements are

correct?

a) Wild animals are the sole property of the government.

b) When a wild animal is declared protected, such animal is entitled for equal protection whether
it is found in protected areas or outside.

c) Apprehension of a protected wild animal becoming a danger to human life is sufficient ground
for its capture or killing.

Answer Options :

1) (a) and (b) 2) (b) only 3) (a) and (¢) 4) (c) only

IRISIa FREMT BIIGT, 4RV T ST oG SfcHid AR a=ecl UeTTelt SaearT e 31ef Ry 311g 2
9) T FRYAT ANGS PRUIRITS! TRAMT SMTHAD 3R,

Q) 3N TR PIUTATE IRFRUAT IS =T A ATaY.

3) & SraifingEar guTRa fie vl o,

) 31eft gt 3mshHe 3T YREIATST B1fReG 3MR.

If a particular plant species is placed under Schedule VI of The Wildlife Protection Act, 1972,
what is the implication?

1) A licence is required to cultivate that plant.

2) Such a plant cannot be cultivated under any circumstances.

3) It is a Genetically Modified crop plant.

4) Such a plant is invasive and harmful to the ecosystem.

TefleTehl PIUI fae /= aRIeR 3T/ 37Ted ?

31) YRR UTUft o107 HSoB] FATIHT GATIRUT (ARET0T) BRIST, 9R¢E idiid PhRudTd 3Mell 37Te.

) T T FIL PR & Ueh dYTeh FRAT 3Te.

%) JTERT T S R ATIARUM 31efe] Yauer JIIcd.

R PO AU SRISR 3T/ 3Ted ?

9) (ar) STfor () &k ) (31) MO () 3) () smfor () 8) (31), (3) 3T ()
Which of the statements given below is/are correct ?

a) Animal Welfare Board of India is established under the Environment (Protection) Act, 1986.
b) National Tiger Conservation Authority is a statutory body.

c) National Ganga River Basin Authority is chaired by the Prime Minister.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

TR Stafafaerdr wftrRor (NBA) WRaR Qe Reior amuaRadt deft #ed avd ?

37) TS JrRIRRE qurd 3TfT Faeef Snfd uRuRes iRl HRTERTT HREOT R

q) TeY dis e JTaifi deefasial del-er e e Frieror amfor qefdemr e,

&) AN /i FTaieht FeRid difged Auar gere! 35t NBA 2T HoRIRERT Rdl VR Tl
gl IR :

q) (31) &b R) (8n) 3y (9) Beh  3) (31), (§) 3PN (B) ) (3) NPT () Beh
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How does National Biodiversity Authority (NBA) help in protecting the Indian agriculture?

a) NBA checks the biopiracy and protects the indigenous and traditional genetic resources.

b) NBA directly monitors and supervises the scientific research on genetic modifi-cation of
crop plants.

c) Application for Intellectual Property Rights related to genetic / biological resources cannot
be made without the approval of NBA.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

S TeRel R ARaie) (BNHS) =1 dedia @ielefieh! Biur faum sRisR 3118 /3 ?

31) & FafeRur T o HETAITAT SR U TR AR 3TTR.

q) Peli—3meTRa Hemer, fereor nfor SHeh IgR FRAie HaeH wRugrar e .

®) g IHT heprardst e gt afor RifeR S era 3nfor SR B,

Tt S :

9) (ar) amfdr () ok ) (31) MO () 3) (3) snfor () 8) (31), (3) ST (<)
Which of the following statement is/are correct with reference to Bombay Natural History Society
(BNHS) ?

a) It is an autonomous organisation under the Ministry of Environment and Forests.

b) It strives to conserve nature through action-based research, education and public awareness.
¢) It organize and conducts nature trails and camps for the general public.

Answer Options :

1) (a)and (b) only 2) (a) and (c) 3) (b) and (¢) 4) (a), (b) and (¢)

3) Mg IE
GTeAIeTh! PIvT ERRIT 857 hras) WRITe 37Rd ?

31) AR R ST ) grdiepieT IR Fe

F) AIHH AT Yhed $) IS dINid IR

gt SR :

9) Theh 37 37T § ) Th &P MM § 3) 31, P M S Heh Y) 3T, &, P IS
Which of the following Protected Areas are located in Cauvery basin ?

a) Nagarhole National park b) Papikonda National park

c) Sathyamangalam Tiger Reserve d) Wayanad Wildlife sanctuary

Answer Options :

I)aandb only 2)cand d only 3)a,cand d only 4)a,b,candd

Greflethl DI IR 85 YRART SeigeeaT gRumeT (IRRTT) SY-USiTd il Hae-rrd! uRig 3
St BOR ST FTel dTed ST daw gmwelt amg ?

9) P TR I ) AFN IE ST

3) HgHCTls a=ISild JTHARTY ¥) el BWR gl IR

Which one of the following protected areas is well-known for the conservation of a sub-species
of the Indian swamp deer (Barasinga) that thrives well in hard ground and is exclusively
graminivorous ?

1) Kanha National Park 2) Manas National Park

3) Mudumalai Wildlife Sanctuary 4) Tal Chhapar Wildlife Sanctuary
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Weiieieh! PIuT IMERT I Fg Stafafderder SR SUR THIT g9 3RTelel Setael U Sifeea
3Me ?
9) PraRepme T e R) et ATTSTIRI IMERT I
3) Pacied I TERT I 8) GATR IERT FeTH
Which of the following National Parks is unique in being a swamp with floating vegetation that
supports a rich biodiversity?
1) Bhitarkanika National Park 2) Keibul Lamjao National Park
3) Keoladeo Ghana National park 4) Sultanpur National park

RgTeAtedeh! PIvT MET I SWbeddy o Sursimfeatiy, auefidrsor anfor anfaces sy gar ™=
AR ?

9) WIS I I ?) e sy g
3) FIBIRT et T e 8) IR IERT I

Which one of the following National Parks has a climate that varies from tropical to subtropical,
temperate and arctic?

1) Khangchendzonga National park 2) Nandadevi National Park

3) Neora Valley National Park 4) Namdapha National park

WA TeAthT DI T S i FHeAIST Sicars SFHE 3Me 2

9) g TET e Q) AHSH AT I

3) eIRT eft il e Q) Eell 3ITh TFAlas et U

Which one of the following National Parks lies completely in the temperate alpine zone?
1) Manas National Park 2) Namdapha National Park

3) Neora Valley National Park 4) Valley of Flowers National Park

MRATAT dTdc THR ST HeHTd, Wielelid! DIurd e aRIsx 3ed ?

31) g F Ricaied TRelel .

¥) ST 3T gl It ATal.

®) g Uc ST xS Nfiie JRaRIuD T 3rTe.

qift S :

9) Theh 37 37T § Q) § 37for & Heh 3) 37 371 & Heh Q) o, § 31 &
With reference to India’s Desert National Park, which of the following statements are correct?
a) Itis spread over two districts.

b) There is no human habitation inside the Park.

c¢) Itis one of the natural habitats of Great Indian Bustard.

Answer Options :

1) aand b only 2) b und c only 3)aand c only 4)a,bandc

¥) UIRVY

QRATIT T8l ?
9) TRIFHIIR IR Q) I ST
3) IERR Preg=9 IR AT TToTeIes ST ¥) TSl IR
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In which one among the following categories of protected areas in India are local people not
allowed to collect and use the biomass?

1) Biosphere Reserves 2) National Parks

3) Wetlands declared under Ramsar Convention 4) Wildlife Sanctuaries

RS TISNT IRV WTeAleTih! BT AT 377 ?

q) BT T ?) AR 3) N ¥) ATl
In which one of the following States is Pakhui Wildlife Sanctuary located?
1) Arunachal Pradesh 2)Manipur 3) Meghalaya 4) Nagaland

ToRITH Prel RIgT e fiids STUaRITT @letiefieh! PiurT 3ol FAATRT PRUITET TR
CISIICIN

9) Plec T T Q) PAITAYR F=ISG IR

3) HgHeTls TSl JTHARTY Q) AREHT IHT A

Recently there was a proposal to translocate some of the lions from their natural habitat in Gujarat
to which one of the following sites ?

1) Corbett National Park 2) KunoPalpur Wildlife Sanctuary
3) Mudumalai Wildlife Sanctuary 4) Sariska National Park

URUIRS A Sfia-RIg Safafdeca Fau-rme! daid qgdrd U0 ot ...........

9) TRAEHISR IRdlgR) dIFeper e 3) IE IUH 8) gISig IIRTY
The most important strategy for the conservation of biodiversity together with traditional human
life is the establishment of

1) biosphere reserves 2) botanical gardens

3) national parks 4) wildlife sanctuaries

SRIHTAT TRRHISR ReTeeHed Wietleeh! BHIUT 3Ted ?

q) TRR, YR SN QA a=ISila AFIRTY; 30T DIehs HSAURTS ATe Tehed

R) HGHATS, HIHTEH A IS F=sid HIRY ; ST ARIeIC &etl -12el UTeh
3) Pife, JeoT FeI—Fa=M ST UTdiepieT awasiia STHRIRYY ; STIfOT Jaell IS I
8) Praet M & dePCHER IISNd STHRIARTY; ST ANTTARR - 2Reie™ e Tehed

Which of the following are in Agasthyamala Biosphere Reserve?

1) Neyyar, Peppara and Shendurney Wildlife Sanctuaries; and Kalakad Mundanthurai Tiger Reserve

2) Mudumalai, Sathyamangalam and Wayanad Wildlife Sanctuaries; and Silent Valley National
Park

3) Kaundinya, Gundla Brahme-swaram and Papikonda Wildlife Sanctuaries; and Mukurthi National
Park

4) Kawal and Sri Venkateswara Wildlife Sanctuaries; and Nagarjunasagar-Srisailam Tiger Reserve

HERTE ISTUTT AR WaT gaaRten - aRfRARTS!, Sta-fafdedr snfor gamm aqa / ¥
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Y4) T Uheq
WotteTih! I T Uehod TN el et 3Td ?
) IR ) fHcRepfOreR ®) HAFA g) goxa

gt SR :

q) (&) T (3) ®weh ) (31), (F) 3701 (F) 3) (31), (P) M (3) ) (31), (), (P), (3)
Which of the following protected areas, are declared as Tiger Reserves?

a) Bandipur b) Bhitarkanika ¢) Manas d) Sunderbans
Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

'"M-StriPES' & 915 Pleldesl SIqeaided SieHid Urfaetm Sirdl

) T YU SfeR o ) T UheU] <RI
3) Tl Suug AfeRiem yurett 8) T TR gRem
The term ‘M-STrIPES’ is sometimes seen in the news in the context of
1) Captive breeding of Wild Fauna 2) Maintenance of Tiger Reserves

3) Indigenous Satellite Navigation System 4) Security of National Highways

GlefleT ATy FYIRUIUDI, fehfeher iR gfece siavid Hafd SR &5 I 3R ?

9) Plec Q) URIER 3) TARATR-Sfeem %) Jaxad
Among the following Tiger Reserves, which one has the largest area under “Critical TigerHabitat™?
1) Corbett 2) Ranthambore

3) Nagarjunsagar-Srisailam 4) Sunderbans

yafaRufi SiRePHI, Yd HTe 37IfdT ufeed |e Jramdiel U IrIel gal Feu Weilefdeh! PIurt Hgw Jard
TR ?

9) ATHH AT Uhed R) T@HeT 9

3) ATRE IET S g) e IRINGHISR et

From the ecological point of view, which one of the following assumes importance in being a
good link between the Eastern Ghats and the Western Ghats?

1) Sathyamangalam Tiger Reserve 2) Nallamala Forest

3) Nagarhole National Park 4) Seshachalam Biosphere Reserve

WIeiieddh! PIorctt /T et /Sie sRIsR Seselt /T MM/ 37ed ?
) ST AT Ubed  : EIRM

) T gt - Rrém

P) AT FIRaR RIS

gt IR :

q) (@) smfdr (&) v ) (31), (@) 3N () 3) () Feh 8) (31) 3or ()
Which of the statements given below is/are correct ?

a) DampaTiger Reserve : Mizoram

b) Gumti Wildlife : Sikkim

c) Saramati Peak : Nagaland

Answer Options :

1) (b)and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (¢)
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£ ) SINTfcieh FRTERIA Safafderdr daeH

'TSATSH SRS’ AT ATAH NG ST TN HeHid letielden! v e aRleR 38/

3R ?

31) & dade FeiE S arfieR) oTR.

q) Stafafdeuar glewdic’ a1 Hehedmar ST A7 TR S,

) g ‘AE@rd qaft afor Siafafduar &n’ U siewedt S /SHfd @R afied o od.

Tt S :

1) () B ?) () amfor () 3) (a1) amfor () 8) (31), (3) 3T ()

With reference to an organization known as ‘Birdlife International’ which of the following

statements is/are correct?

a) Itis a Global Partnership of Conservation Organizations.

b) The concept of ‘biodiversity hotspots” originated from this organization.

c¢) Itidentifies the sites known/referred to as ‘Important Bird and Biodiversity Areas’. Select the
correct answer using the code given below.

Answer Options :
1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

"STTfcren gataRur G’ @ deid, Wieflerid! BIurd I dRIeR 3TR/3MmRd ?

q) g "Sifdep fafduda’ia siftaem’ AT 'gARICS A= ShHah Peere 3 FARME dot’ AT 37
GAUT FEUT T .

Q) ¢ ST SRR GRTeRUiTT FHRiaR. Jeifeies THeMe avcl.

3) B SIS eI Teb Tl 3ATE i 7] YA IaRvITd, FRE0] PRuared fafie S sifdeRia S

¥) aral (9) S (R)

With reference to ‘Global Environment Facility’, which of the following statements is/are correct?

1) Itserves as financial mechanism for ‘Convention on Biological Diversity  and ‘United Nations
Framework Convention on Climate Change’

2) Itundertakes scientific research on environmental issues at global level.

3) Itis an agency under OECD to facilitate the transfer of technology and funds to underdeveloped

countries with specific aim to protect their environment.
4) Both (1) and (2)

ST T R PIeieead JAh ToR 3fs Faxel RARM (IUCN) 7 Jep1iRi dheledll X8 STl §a
5125 SR JqreT 37T

31) SafAfaudT glexicHe 3TeledT TR avydt 3MIfoT ITuream Usircit

¥) NPl g RYa 3MfOT TTugaT USiTe.

%) fafqy Qeormer Fret anfr Safife SxaTemT=an Hatrard! R T

qift SR :

q) () 3T (&) ®eh ) (31), () 3N (F) 3) (9) Beh 8) (3r) 3Mfor ()
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The “Red Data Books” published by the International Union for Conservation of Nature and Natural
Resources (IUCN) contain lists of .............

a) Endemic plant and animal species present in the biodiversity hotspots.

b) Threatened plant and animal species.,

¢) Protected sites for conservation of nature and natural resources in various countries.
Answer Options :

1) (b)and (c) only 2) (a), (b) and (c) 3) (b) only 4) (a) and (¢)

28 Relcs SMfIRRT @1fth tiFT 3Ts TeIRT 39 o<t (TRAFFIC / afthes) = Siguld, @refletdd! o

e /A SRIeR 3R/ 3med ?

31) ofthep § Y ITF TAfeRvl HRishH (UNEP) Siaiid e &-1 31T,

) g IR SMOT TIugTea] IR FRAea] HatHIe UiehT BIUTR ATal Irdl W R0l § ofthehd
2R 37T,

qift S :

q) (31) wh ?) () B 3) () 3nfor () Qe 8) (3F) fobar () et et

Which of the following statement is/are correct in respect of Trade Related Analysis of Fauna

and Flora in Commerce (TRAFFIC) ?

a) TRAFFIC is a bureau under United Nations Environment Programme (UNEP).

b) The mission of TRAFFIC is to ensure that trade in wild plants and animals is not a threat to the
conservation of nature.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

RTeNieTieh] PIUIT TR BRTET Staffauder aRum gid /2 ?

37) T AT QAHATS] T STAND AATUAGR SARTER FRR.

) FAICS A Bree e g PINC SollCIthper.

P) SIATfp TR ST,

it S :

q) (31) 3Mfor () B Q) (31) AT () 3) (@) ST () 8) (31), (3) 3nfor ()
Which of the following international agreements has/have a bearing on the biodiversity ?
a) The International Treaty on Plant Genetic Resources for Food and Agriculture.

b) The United Nations Convention to Combat Desertification.

c¢) The World Heritage Convention.

Answer Options :

1) (a)and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

'S SPFIHAT 3ATh SPIRNCRT 3fe TReIERic (TEEB)' ATaredr SushqT Heid, Wietieiddh! diur

UM RIS 3/ 3Med ?

31) g UNEP, IMF 370 ge€ 3epHiid hRY gR MR dhelell SUhH 3.

¥) 8 U STTcieh SUhH 3MTe ST 3N thrreiichs ofe dUUTaR 18l Shied axal

) T U@ GEpM AR dxdl St (i g aiRfRufies o &nifr Slafafduc o siiewua,
YTfais PRUIRT IO PoaR IRUIRT HSd e 2Tehel.

gl IR :

q) (3) T (B) ek R) (31), (9) 37 (B) 3) (P) Fh 8) (31) 3T ()

HERTE JISTUTT AR WaT gaaRten i - aRfRARTS!, Sta-fafdedr snfor gamm aqa / 4



6)

9)

7)

For Private Circulation Only

With reference to an initiative called ‘The Economics of Ecosystems and Biodiversity (TEEB)’,

which of the following statements is/are correct?

a) Itis an initiative hosted by UNEP, IMF and World Economic Forum.

b) Itis a global initiative that focuses on drawing attention to the economic benefits of

c) It presents an approach that can help decision-makers recognize, demonstrate and capture the
value of ecosystems and biodiversity.

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

UN-REDD+ SRIgrHT 1 3a=T 31flT Tet siersiiavlt amed stemiia amer << 9.

1) Safdfquda TReUr ) g7 IR Fafiendn ®) TRE HHT RO
gt SR :

q) (1) ST (F) Hch ) (3) ST () 3) (@) snfor () 8) (31), (3) amfor ()
Proper design and effective implementation of UN-REDD+ Programme can significantly
contribute to ..........

a) protection of biodiversity

b) resilience of forest ecosystems

c¢) poverty reduction

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
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V) e AT - eReTe TR Henie a fALFRR Yy

gTATaRYT d g del —hRUI g gRUmH
gRaary
EReTE TRuIm @ amTed Wiaiig mor et oyfiest

q) IR g §aMH 98 — HRU g gRum

ST Rl SRAT 3Tg 1 STRTIcIs UMM dTe qd—3ifefies uraerien 2°C Y&l SR !, SR
STRTRCTR ATOHT gd—3ieifies arawiuen 3°C Y& SR dTedt, TR T FHT1R IR /IR SR B
B AT ?

31) FYellg SHavse fredes Pl Bdlhs Fehd.

q) AIGHT YHIUIER YaTe T gl

®) FJ ST YTUIIes STRTT prRIHT ATRIel gidiet.

) QUURIT TGS Gl Poal AT BIUIR TE.

qift S :

q) (1) 3mfor () weh Q) (31), () ST (F) 3) (3N), () MU () ) (3N), (3), (®) (I)
The scientific view is that the increase in global temperature should not exceed 2°C above pre-
industrial level. If the global temperature increase beyond 3°C above the pre-industrial level,
what can be its possible impact/impacts on the world?

a) Terrestrial biosphere tends towards a net carbon source.

b) Widespread coral mortality will occur.

c) All the global wetlands will permanently disappear.

d) Cultivation of cereals will not be possible anywhere in the word.

Answer Options :

1) (@)and(b)only  2)(a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

WTeAeThT DI faerm aRIeR 3R ?

37) SRl & T AR fafdRer ufififed axara onfor geefen geum o avdrd.

9) ot Sfekier @Mied gediear YSHAER HEu=IT S96RS U S JHI0T SNyuT SIedT e
GIEEIEEI AN

gt IR :
9) (31) Hh ) (§) Bh
3) (31) afor (9) gl 8) (1) fbar (3) SErEr ATt

Which of the statements given below are correct?

a) High clouds primarily reflect solar radiation and cool the surface of the Earth.

b) Low clouds have a high absorption of infrared radiation emanating from the Earth’s surface
and thus cause warming effect.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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YT UleR AU PIBATAT ST Qletiedehl PIUd ITH Bl ?
31) P SRSIaASS  §) ARG JMaASS &) HAohsd IMaATZs

T SR -

9) (31) Fh Q) (1) anfor (&) ek 3) (3), (9) 3 (B) ) (4) MM () Beh
Which of the following is/are the emission/ emissions from coal combustion at thermal power
plants?

a) Carbon dioxide b) Oxides of Nitrogen c) Oxides of Sulphur

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

HRATNE UIelg SNMGR Wiefiedhl PIud Agward Ughd Al S ?

31) TR JlfaAIss  §) AR JfaISs  B) Bl JHRITAES  §) B SRIRNaIEs
oift SR :

q) (&) ST (3) ®weh ) (1), (@) 37T (d) 3) (31), () T (3) ) (31), (), (®) ()
Which of the following are some important pollutants released by steel industry in India?

a) Oxides of sulphur  b) Oxides of nitrogen ¢) Carbon monoxide d) Carbon dioxide
Answer Options :

1) (@)and(b)only  2)(a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

die Wfed wicaaget [T &1 *h dell ST ?

a) I YITERUT YTUTETded 3% ARUI=T TTdsIqid hle- AFIaRISsd 3o o IehdTd.

b) PIR FHHD BIE Blel T8 YD f[Ige S o ameRua Hes, 2.

) O o SRIRIGIESd SIS % .

Tt SR :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
Why is there a concern about copper smelting plants?

a) They may release lethal quantities of carbon monoxide into environment.

b) The copper slag can cause the leaching of some heavy metals into environment.

c) They may release sulphur dioxide as a pollutant.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

T 3iereT deHld, WTelieiid! ®IvR U /3 aRIeR 318 /3ed ?

a) B U1 JEIPRUT PRETAT IS 37T,

b) FTE S R dier RIS aTR eRar.

¢) T ATRMES JTATERVNT AehRd IS Bl

Tt S :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
With reference to furnace oil, which of the statements given below is/are correct?

a) It is a product of oil refineries.

b) Some industries use it to generate power.

c¢) Its use causes sulphur emissions into environment.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)
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PICIBEHA T B oo Frearcier ufefRdar aRerm an.
q) RIHPBILTRT IuRIHT NO2, O3 M peroxyacetyl AT
R) UHTATT IURIAT I, SR M7 peroxyacetyl ARICE
3) @ g CO, CO2 3ot NO2

) Hegrpral NO2, O3 3ffor CO =i 3 Yehird.

Photochemical smog is a resultant of the reaction among ............
1) NO2, O3 and peroxyacetyl nitrate in the presence of sunlight
2) CO, 02 and peroxyacetyl nitrate in the presence of sunlight
3) CO, CO2 and NO2 at low temperature

4) high concentration of NO2, O3 and CO in the evening.

sicifaced TeaTd 3iene fg fmfor gt € i a1 R, ® 5 TR BvaT BRUT BT SR, ST ?

9) afereRye Uees AATTYUT; 3NN FARIFARIBIE~TT TaTa

Q) TE® YT The AT FERBRS &, AT FARITFARIDBIS=TdT 3ficHarg

3) YT e ST FCRhRE Sl AR ; 3MoT e M7 FARIFARI-ple=aT JATdvarg

8) SR JMHHaRS YT Ieaiiel AR are

The formation of ozone hole in the Antarctic region has been a cause of concern. What could be

the reason for the formation of this hole ?

1) Presence of prominent tropospheric turbulence; and inflow of chlorofluorocarbons

2) Presence of prominent polar front and stratospheric clouds; and inflow of chlorofluorocarbons

3) Absence of polar front and stratospheric clouds; and inflow of methane and chlorofluoro-
carbons

4) Increased temperature at polar region due to global warming

3Tt UTaRITeS TR FSHOT 8. ...

9) B SRIINGATSS 3TN AR Q) P HHIIGRITSS IO Bl SRINIAZS
3) 3N 3T P SRNRAZS Q) AR INaISS T AN SIS
Acid rain is caused by the pollution of environment by ..........

1) carbon dioxide and nitrogen 2) carbon monoxide and carbon dioxide

3) ozone and carbon dioxide 4) nitrous oxide and sulphur dioxide

IR WTeilelieh! PIuTdT/d B &1/2 3Tl UIaRR BRI 3778 ?

31) FEA AAIATES ) ARG AaRATSS

®) A 3) IR SIIGATES

qift S :

q) (31), () 3fr () 2) (@) (F) Wb 3) (3) Feh 8) (31), (@) 37T (%)
Excess of which of the following in the environment is/are cause(s) of acid rain?

a) Carbon monoxide b) Nitrogen oxide

¢) Ozone d) Sulphur dioxide

Answer Options :

1) (a), (b) and (¢) 2) (b) and (d) only 3) (d) only 4) (a), (¢) and (d)
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) eRaag

‘fiFera T UIchia WUt BRI ?

q) g TRBR AT MRS IS FRATE AT ST TS B0, T FHI0T 3RAUT 37fT agaweenfia
IR TS STTRTERT AT AT TR,

R) BRATE I IS PH! PRUIRATS MM TRV 3pel THASHE Sderd PRUIRAS! fepdefiet
QT e UicTe QUG Ageh IEaTT 81 b SUshH 31T,

3) B U MR-IRBRI IRR 3ATE ST AGth IFAT T4 TG QAT T 203 R BRAE IR IASH
fIfTE TR PH! PREATATST FoR elell 3.

8) & SIS b AT hetedl gguelis REDD+ IughHideh! T Mg

What is ‘Greenhouse Gas Protocol’?

1) Itis an international accounting tool for government and business leaders to understand, quantify
and manage greenhouse gas emissions

2) Itis an initiative of the United Nations to offer financial incentives to developing countries to
reduce greenhouse gas emissions and to adopt eco-friendly technologies

3) Itis an inter-governmental agreement ratified by all the member countries of the United Nations
to reduce greenhouse gas emissions to specified levels by the year 2022

4) It is one of the multilateral REDD+ initiatives hosted by the World Bank

gl TRTeRIA PIe AIBATE WA leTdeh! PIUT fhaT BIe- SRISNTaATSS S ?

31) Ao fhar - §) 99w &) TPHIIRILTT ) NifgT ugraar eRr
Tt} SR :

9) (37) A (9) Heh R) (31) 3T () Weh

3) (), () fr (3) 8) (31), (@), (D), ()

Which of the following adds/add carbon dioxide to the carbon cycle on the planet Earth?

a) Volcanic action b) Respiration

c¢) Photosynthesis d) Decay of organic matter

Answer Options :
1) (a)and (b) only 2) (a) and (c) only 3) (b), (¢c) and (d) 4) (a), (b), (¢), (d)

SfciicpeedT PIoI Al fohaTherdie dTaRUTT Pl S JAlaTssd TV dleel e, Uq gl
IRIENAT | XdTered] IIdTeRUITd JMgd A8l DR ...

31) AT NI RRIRRIRAEY TeTI.

¥) TENITRAEY HRICIGIdeIgR HhIIRISeyT.

) YR SHIAT TIPHL gl TSHU.

RITUDT PIUr fIE™ aRIeR 3Med /3 ?

q) (@) wH R) (81) 3nfor () 3) (@) 3for () 8) (31), (3) 3nfor ()
Human activities in the recent past have caused the increased concentration of carbon dioxide in
the atmosphere, but a lot of it does not remain in the lower atmosphere because of ......

a) its escape into the outer stratosphere.

b) the photosynthesis by phytoplankton in the oceans.

c) the trapping of air in the polar ice caps.

Which of the statements given above is/are correct ?

1) (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
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gefiqRicT 1 TP Wl iedeh] T Do SRISTTdISs AlSel Sl ?

31) UBIRTHATOT g) &I ) AT USRIl & 8) SaeE ok
qift S :

q) (1) 3T () weh Q) (31), () SN (F) 3) (&), (F) M () ) (30), (&), (P), (3)
Which of the following did add carbon dioxide to the carbon cycle on Earth.?

a) Photosynthesis b) Respiration

c¢) Decay of organic matter d) Volcanic action
Answer Options :

1) (@and (b)only  2)(a),(b)and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

3) eRwTE uRvIM @ e 3Heiig s e Y

gIciieT Te SRISTTATSESd dTad FHTUT ATIaRUTd dIoH gRge. aledd 31e, PRI d ... QYT T
q) g U T SAIfYT ST fedhgd dad Q) AR Tl Sifoeie dRT
3) 9d AR ol 8) AR Ul 3faReh HH

The increasing amount of carbon dioxide in the air is slowly raising the temperature of the
atmosphere, because it absorbs ..............

1) the water vapour of the air and retains its heat

2) the ultraviolet part of the solar radiation

3) all the solar radiations

4) the infrared part of the solar radiation

B S INGASSAT AFGIIST IS A4S el TAaal el HHl PxugTea] HeHd,
TefieTdehl DI Ble ARG T fSPTur 3R ehaiTe ?

31) 99 3T 3Ffie Piewdr HiH

5) et oy A S e

) PHidiel Wiel WRS Tl

gt SR :

q) (1) ST () Wb ) (8T) AN () 3) (@) v () 8) (31), (&) smfor ()
In the context of mitigating the impending global warming due to anthropogenic emissions of
carbon dioxide, which of the following can be the potential sites for carbon sequestration?

a) Abandoned and uneconomic coal seams

b) Depleted oil and gas reservoirs

c¢) Subterranean deep saline formations

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

GTefl TG Uit P dien g M it ARIcH siiavTiss a1 Q] [did Agwrdl AMaaei A
3Me ?

9) PIgF Q) dige 3) &4 8) T

Among the following crops, which one is the most important anthropogenic source of both methane

and nitrous oxide ?
1) Cotton 2) Rice 3) Sugarcane 4) Wheat
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ieh / SRIMTITT 3T STedTIes Wietiefdeh! UKt dR] aTdTaRuNd Alsel ST ?

3) P qAeliedEs  §) fee ®) M g) TR SRS
qift S :

q) (1) 37T () weh Q) (31), () SN (F) 3) (30), (3), (@) MO (3) %) (P) 37V (%)
Which of the following are released into atmosphere due to the burning of crop/biomass residue?
a) Carbon monoxide  b) Methane ¢) Ozone d) Sulphur dioxide

Answer Options :
1) (a)and (b) only 2) (a), (b) and (¢) 3)(a), (b),(c)and (d) 4)(c)and (d)

e gRISeR AToTieEe il PIv faam aRIsR 31 ?

37) TAlSS afiTIes a1 oMY M I STk YSvaT HRUNT 3% STad.

q) anfaced gg ST ARETea ‘AT gRise’d A3 A3 3TewdId.

®) IR 9 T fhar g9 ShHaR dle- SRISTaTgeHEd RIS 8.

Tt S :

9) (31) omfdr (3) ek R) (aN) 3T () 3) (3) smfor () 8) (1), (@) 3mfvr ()
Which of the following statements are correct about the deposits of ‘methane hydrate?

a) Global warming might trigger the release of methane gas from these deposits.

b) Large deposits of ‘methane hydrate’ are found in Arctic Tundra and under the

¢) Methane in atmosphere oxidizes to carbon dioxide after a decade or two.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

¢) TAMM 9ol JMTAT, TATERUT HIHHT PRI WA d AT

9)
?)

)

1)

AT 93T 3TeT
oot it Aol PRING WaeHT g [T

q) EAMM ST 3T
SIAIfcies 8T ISl AT, NaTcefietdh! PhivraT JehiRa! ! e I /SIEFIT Areaudrd Aed

PR /HGd R ?

1) T 9fem ¥) Rt worfam ®) I HANTA
Tt SR
9) () 3oy () weh  R) (3), (9) 3T (&) 3) (B) Beh 8) TTehT ATer

In the context of global climate change, which of the above helps/help in carbon seques-tration/
storage in the soil?

a) Contour bunding b) Relay cropping c) Zero tillage

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) None of them
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RgTefIeTdh PO AeHTd Prat TR ARRY T3S I T aTR 31foT Hethe W R RRAIRAEd
ESENE IS CERIE

q) PR TSI BT TSI TTS0T

R) ST ThaTGRIE! qRARAT SMOT cHsraT ST ot

3) AR grmar gedtaR BUIRT Ufcrper aRom @t aRor

¥) ToAlge aTfeT et Ror

In the context of which of the following do some scientists suggest the use of cirrus cloud thinning
technique and the injection of sulphate aerosol into stratosphere?

1) Creating the artificial rains in some regions

2) Reducing the frequency and intensity of tropical cyclones
3) Reducing the adverse effects of solar wind on the Earth

4) Reducing the global warming

BT hiscd I9d, Wleflelddh! PIu I sRIeR A8l ?

q) P shisc HUlTell AT TICihlee HoR PRUAN 3fTel!

Q) I HISCH 31 QAT fohaT T fiet ST S+ e It dlcamie gRayg ar”L FHT det
3.

3) P hise UUMelD ST g Pl SHNRIES IS JHIUT Fifed Ul & 3T

8) A I YITER0T BRIHHIGR dRlde! MR deiedn AR Pl shiserdl TR el ST,

Regarding “carbon credits”, which one of the following statements is not correct ?

1) The carbon credit system was ratified in conjunction with the Kyoto Protocol

2) Carbon credits are awarded to countries or groups that have reduced greenhouse gases below
their emission quota

3) The goal of the carbon credit system is to limit the increase of carbon dioxide emission

4) Carbon credits are traded at a price fixed from time to time by .the United Nations Environment
Programme

TetleAtch! PO AL ‘et AT febad’ am 2regT Fafeg® qui vl ? ® T HIvMTY 3T, Hifsed
T qe, =

q) feeicar auid T e CO2 IS Hetel QrEdll Teh<.

R) T SUFIRAT STUITeAT JMURTER QT S 3TITOT Hall UG PRUITAIS! Sarad LT 3TasehdT.
3) Ta ot IR el ardmeRyl HaiRidiT detel T

%) geeft TgTekieT e Geficned dafthds @b ANTGH.

Which one of the following statement best describes the term ‘Social Cost of Carbon’? It is a

measure, in monetary value, of the

1) long-term damage done by a tonne of CO2 emissions in a given year.

2) requirement of fossil fuels for a country to provide goods and services to its citizens, based
on the burning of those fuels.

3) efforts put in by a climate refugee to adapt to live in a new place.

4) contribution of an individual person to the carbon footprint on the planet Earth.
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JUASUIGR TG ‘i Pre Hich’ PATAS! fApfad et el Mg ?
9) SRS fSfeeT SR P heflicd Jeid aol
Q) SHIRIC ATTATRIG At TR Plee ST ATIRIT U3 PRUIRT & DHRuy

3) SRS IRBRMAT IS BIVTIT URUT Pre- Heibicd o PRUIRT H&H Bl

8) Tehch dadcl SHIGR STATH SUFTAT aTuR™He BI0T=IT UHUT e Ge—ficd Jediad ol

The ‘Common Carbon Metric’, supported by UNEP, has been developed for

1) assessing the carbon footprint of building operations around the world

2) enabling commercial farming entities around the world to enter carbon emission trading

3) enabling governments to assess the overall carbon footprint caused by their countries

4) assessing the overall carbon foot-print caused by the use of fossil fuels by the world in a unit
time

ITeioT IR ol qateRviRT SEddr GHRET HRUIRIS! fhdT P1e Rellic HH! PRUTRITS! Wietierdh!
PIUIT AR FRUI W et ST 2

31) PIR T ¥) Ples T 3ThIee dasT™

®) TR 3) gic e Shlee daeT™ 3) Uidets Re
gl IR :

9) 37, 3T &P Bxh ) d, P MO S Heh  3) S 30T § Feh ¥) 37 M7 3 Heh

In rural road construction, the use of which of the following is preferred for ensuring environmental
sustainability or to reduce carbon footprint ?

a) Copper slag b) Cold mix asphalt technology

c) Geotextiles d) Hot mix asphalt technology

e) Portland cement

Answer Options :

1)a,band conly 2)b,cand d only 3)d and e only 4) a and e only

BT AP 099-92 F, Sia-MMURT SR (SIFTRHIee) Al Hed AR Ul J¢ Q0T
3T, a1 I AEw BRI e ?

37) URURD SERmAT fAuRd, SRISIRShlee SidTed SU-TAR MR ATal.

§) IRIGIRICT JHTPRUT 1 Rl AV AITIRIT Sadr .

%) Sifdeh TTPre UIATURIT JRISRGIeT SadT .

) IFITAT JEHNRIG! SRISTRIeT dTIRUl g GTERUIN STIHdl 31T,

i SR :

q) (31) Sfor (3) wh - 2) (31), () M (F) 3) (3N), (B) M (3) ) (), (@), (&), (3)
In the Union Budget 2011-12, a full exemption from the basic customs duty was extended to the
bio-based asphalt (bioasphalt). What is the importance of this material ?

a) Unlike traditional asphalt, bioasphalt is not based on fossil fuels.

b) Bioasphalt can be made from nonrenewable resources.

c¢) Bioasphalt can be made from organic waste materials.

d) It is eco-friendly to use bioasphalt for surfacing of the roads.
Answer Options :

1) (@and (b)only  2)(a),(b)and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)
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Q) TG aifeT Wewid HRR HaeHdT g J=e
"TAE ITARTT BR FARIHC-TE 3Mfidheek (GACSA)' =T Heuid alefierddh! diur faem aRiaR
31/ 3Me ?
31) GACSA g IR seiedn gamH fOReR aReear et e
¥) GACSA T I Vel S8R U AT o AT,
%) GACSA =1 fAffdia YRarT A= arer gl
Tt SR :
9) (1) 3MfOr (F) ek 2) (37) 3Mmr (§) wh 3) (@), () 3o (&) %) (3) Feh
With reference to the ‘Global Alliance for Climate-Smart Agriculture (GACSA)’ which of the
following statements is/are correct?
a) GACSA 1s an outcome of the Climate Summit held in Parice
b) Membership of GACSA does not create any binding obligations.
¢) India was instrumental in the creation of GACSA

Answer Options :
1) (a) and (c) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) only

GTeiiedeh! PIURcl fIem sRIeR eirgd ?

31) '3 FERHE gU @ Uh AR ATl HT 3R f =T JIge AcdadhgR gaMHeea

) SNCRRIERT Hofl Tl FARHE Joed Fgpra "EP100" & ST SUshH =0 dhel.

) I DA PROITN Sfer QUf FRAMT, Foll PRIGHITR 6 UTARAIS! ST Fqerfeend
JSIVIITS! dI-eg IRIicdl IMETSAT Hu=a=T "EP100" Tha 3MUrd.

) PIE AR Pua "EP100" <1 e ST,

) SCTME TSt Ul g (SRR R Al d Afvared o

gt IR :
9) (31), (@), (3) 3 (3) R) (31), (P) N (8) Heh
3) (@), (P) 3T (3) Heh 8) (31), (3), (), () 3T (3)

Which of the statements given below are correct?

a) "The Climate Group" is an international non-profit organization that drives climate action by
building large networks and runs them.

b) The International Energy Agency in partnership with the Climate Group launched a global
initiative "EP100".

c) EP100 brings together leading companies committed to driving innovation in energy efficiency
and increasing competitiveness while delivering on emmission reduction goals.

d) Some Indian companies are members of EP100.

e) The International Energy Agency is the Secretariat to the "Under2 Coalition".

Answer Options :

1) (a), (b), (d) and (e) 2) (a), (c) and (d) only

3) (b), (c) and (e) only 4) (), (b), (¢), (d) and (e)
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"'FARTNE JFeH g}’ S fafdyr Qo Saoi BHY aRudTeT UfisiiaR o8t 3ad, 9 BT 3MR ?

9) fafay HeMer FRIAT AghRIE TIR dolell e

R) ''EAMM SeeTd RIS GAet” =l Tep et

3) 'TIRICE A9 thHah Pregee A FAIHE dol | SR Af

8) "'FAICS I TgRRHE I’ ST SIAIfieh sihgR MicTe 3TIfoT fomigRasT ot Uot=it
"Climate Action Tracker" which monitors the emission reduction pledges of different countries
1sa:

1) Database created by coalition of research organisations

2) Wing of "International Panel of Climate Change"

3) Committee under "United Nations Framework Convention on Climate Change"

4) Agency promoted and financed by United Nations Environment Programme and World Bank

SSENATC! Tl © gaM ACR S &1 U SUshH 318

q) A ISRl JATRARDPRI Uefel ?) UNEP Wifm@rer

3) UNFCCC wfuarea ¥) SIfies gaTH= HeeT.
“Momentum for Change : Climate Neutral Now” is an initiative launched by
1) The Intergovernmental Panel on Climate Change

2) The UNEP Secretariat

3) The UNFCCC Secretariat

4) The World Meteorological Organization.

WTeAlcTiehl DU SISt SRR Seset! /Mg 2
GG YA T e e Heftendt fowa
31) aRRfere-1 <21 . PICIoAT Teldhic]

¥) IO Ao BUTd . ANRIT Hickhicl
) T AP JA ;. RIS Uiciplel

Tt S :
9) (31) Teh R) (31) 3T () weh - 3) (31), (F) 3T (F) 8) (F) Fh
Which of the pairs given below is/are correctly matched?
Terms Their origin seen in the news sometimes
a) Annex—I Countries : Cartagena Protocol
b) Certified Emissions Reductions : Nagoya Protocol
c¢) Clean Development Mechanism : Kyoto Protocol
Answer Options :
1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (c) only

2094 T URFFR FTetedT UNFCCC dahiciiet arRream Feyld, Wiefietid! diur faem sRisk 3fe/

3R ?

37) ARRIER UN =T Ad AT ST F1eRT et gicit TIOr al 209Y IR W] Bset

9) gRAE I IS AT PRUITS T TR (e 3N STUIeo IT ATBTAT SRERIRT AR STRTCrp
AT IUMRY ate :°C fhar ga-aitenfiie ardesiua 9.4°C & SR gIviR T,

%) faepfid <o diee A @ UiieiRie STeeeRt RieRe 3Tl 020 IRIT Hicast 9000
319l QAT VYT TIag 3T S0iehor fIpd-efiel Q90T g™ ISeTrl AT PRUIRT Hed glse.

gl IR :

1) (d) &b R) (9) 3for (@) 3) (31) 3nfor () 8) (31), (9) 3T (@)
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With reference to the Agreement at the UNFCCC Meeting in Paris in 2015, which of the following

statements is/are correct?

a) The Agreement was signed by all the member countries of the UN and it will go into effect in

b) The Agreement aims to limit the greenhouse gas emissions so that the rise in average global
temperature by the end of this century does not exceed 2 °C oreven 1.5 °C above pre-industrial
levels.

c) Developed countries acknowledged their historical responsibility in global warming and
committed to donate $ 1000 billion a year from 2020 to help developing countries to cope
with climate change.

Answer Options :

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

TefieTdeh PIOTAT 3T SHHT PROTAT UGRITAT TRIER FRIF0T 30T ST aToR oaTelt Feferd
AR ?

q) s g3q uReg Q) Hif~exeT Wieidicl  3) FIST WIckhiel ) TR Merhict
Which one of the following is associated with the issue of control and phasing out of the use of
ozone-depleting substances?

1) Bretton Woods Conference 2) Montreal Protocol
3) Kyoto Protocol 4) Nagoya Protocol
gTefierdeh! P faer /= SRISR 37TR/ 3R ?

37) AR EAH HGHH PHHI PRUINITC! FAIHT 318 Tt TR Pifere (CCAC) & G20 <era
TErdT U JHRAT SUhH 3.

¥) CCAC e, &id B 3Nl gRIg-TaARIBE~adR T8l dhfad .

Tt} SR :

q) (1) Hh R) (9) Bh 3) (3n) anfor (o) 2= ) (@) foberr (3) ST et

Which of the statements given below is/are correct ?

a) Climate and Clean Air Coalition (CCAC) to Reduce Short Lived Climate Pollutants is a unique
initiative of G20 group of countries.

b) The CCAC focuses on methane, black carbon and hydro-fluorocarbons.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

"I I R aheE’ @1 96 dreldeT i I et uifdel STl

q) IR Feayddiet FafRiar gaae axvarret R Qo feetel aae

R) TIMM ISl JHIEET FRUIATIIGT STITHe] SeT! STRaetel! it JrorT

3) UfIRM SRPRTER SreeveHT Shall TRATTHT SIGRT QT fetel Hisad

g) enead faer SfeEiaEd STt Sent fEetear el e

The term ‘Intended Nationally Determined Contributions’ is sometimes seen in the news in the

context of

1) pledges made by the European countries to rehabilitate refugees from the war-affected Middle
East

2) plan of action outlined by the countries of the world to combat climate change

3) capital contributed by the member countries in the establishment of Asian Infrastructure
Investment Bank

4) plan of action outlined by the countries of the world regarding Sustainable Development Goals

HERTE JISTUTIT AR WaT gauRien il : aRfRARTH!, Sta-fafderdr sfor gamm aqa / &8
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'31ef 3R’ AeHTaRaTetienich! I AU/~ aRIeR 318 /38 ?

37) g UNEP 37for UNESCO d1 3UshH 3TTe.

9) & W Toqe 3E STHL FEHRIT SRadl axifde feaeft e arf fad a8 =are.

P) A St MO U8 Ul IRSISE SRl dledudTdl & Jobacs 3TTg.

IR SR :

q) () 3T (&) ®eh ) (31), (3) 3Mfor (&)  3) (P) b 8) (1) 3Mfir ()
Consider the following statements regarding ‘Earth Hour” :

a) Itisaninitiative of UNEP and UNESCO.
b) Itis a movement in which the participants switch off the lights for one hour on a certain day

every year.

c) Itis a movement to raise the awareness about the climate change and the need to save the
planet.

Answer Options :

1) (b)and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

"M FIRME Hhe' HSHIT Wieiletdd! PIurd faum SRR 3rmed/ 3ied ?

37) A IeATal AFT PRUIAS! [Ireaiefiel QT 3FIde MMM AT P_udred] Ugded Had
FRUITET & 3Te.

) IR AT TSNS, S8, MRS fIhRT S 3T S § AT Sgcared! Sl 3R

Tt SR :

q) (31) Fh ?) () wh 3) (an) amor () Qe 8) (31) b (&) <l Tl

Which of the following statements regarding ‘Green Climate Fund’ is/are correct?

a) Itisintended to assist the developing countries in adaptation and mitigation practices to counter
climate change.

b) Itis founded under the aegis of UNEP, OECD, Asian Development Bank and World Bank

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

Q) UGHUT : TR d SHIRUI — T, Troft, Afcht, et
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9) UQHYT - &1

WefleTddh! P faem /3 SRSk 31/ 31Med ?

37) DI INGHEY IRIh, Ry 3mfor IR 3RAa.

) PIBATR TTAUR YldR WC Ao SISNGATSS MU ARG JaaIse aIdeRvITd sl
P) URART PISATT T THTT ST 37T

Tt S :

9) %h 31 Q) § 37for & Heh 3) & Bh Q) o, § o1 &
Consider the following statements :

a) Coal ash contains arsenic, lead and mercury.

b) Coal-fired power plants release sulphur dioxide and oxides of nitrogen into the environment.
¢) High ash content is observed in Indian coal.

Answer Options :

1) aonly 2) b and c only 3) c only 4)a,bandc

Sfer ASuUTRAT HUpIT AT WieHietueh! DUt ROl /BRED A 2

37) SAcHETS Ta=iNG q) deRgET R

&) AR el S) dIfHi9T Petel olidhs! iR TaRor

3) UlcIgRATT Sfetel IedTGT ATHROT

Tt S :

9) Heh 31, § MMOT B Q) § 30T § Heh 3) 3, B AMISHth Q) 3M, &, P, S 3T S
Which of the following are the reasons/factors for exposure to benzene pollution ?

a) Automobile exhaust b) Tobacco smoke

¢) Wood burning d) Using varnished wooden furniture

e) Using products made of polyurethane
Answer Options :

1)a,band conly 2)band donly 3)a,canddonly 4)a,b,c,dande

T Qe AERME, R UrEdl Qe Jed AT Wieliclih! o] aigret i IRl
A0 R el ST ?

31) PIEA SRRNGAISS o) P HHISNGARS  B) ARG SHINTIES

T) o Sdliass  3) fmeE

oift SR

q) (&) ST (3) ®eh ) (&), () 37O (F) 3) (), (&) N (3) 8) (31), (), (P), (3)
In the cities of our country, which among the following atmospheric gases are normally considered
in calculating the value of Air Quality Index?

a) Carbon dioxide b) Carbon monoxide  c¢) Nitrogen dioxide

d) Sulfur dioxide e) Methane

Answer Options :
1) (@and(b)only  2)(a), (b)and (c) 3) (b), (¢) and (d) 4) (), (b), (¢), (d)
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RIFSTFRICeE FHRAT (HGRT) 101 PRUGRT RN SRACITT T 3RTeiel FACISE Ul § WletieTiep!
PV TSHIRIT FATERONT Tg¥es U o giama ?
a) AIcR d&d 599 b) JIeR argrd 3R ¢) Rl grishldeg ¥eieg

d) TleR wiicd e) cforp ars=a
gl IR :
1)a,b,c,damfre 2)a,b,danfre®wdh  3)a, b 3Mfr d veh 4) b, d 31fr e Hh

Magnetite particles, suspected to cause neurodegenerative problems, are generated as
environmental pollutants from which of the following?

a) Brakes of motor vehicles b) Engines of motor vehicles

¢) Microwave stoves within homes d) Power plants

e) Telephone lines

Answer options :

1)a,b,c,dande 2)a,b,dand e only 3)a,band donly 4)b,d and e only

WHO =7 gaT el HIieeie deaied Henid, Wiefierid! Piord fIem sRisR imad ?

ar) fiem - .y Tt Y- ARRRY UTdd! 94 pg/m3 Y&l STRT A=ralt 3Mfor fed —2.4 ar anfien TRt
UTde! 5 pg/m3 Y& SRR =ATet,

9) WATEN qEHRTAT BB 3N HGUUTRT 3G UTcio! WR1d gaTTHIAT Iodi T

%) UIH ~ 9o PAGRINIST ST HeT IhUATEIT Ja s Qe

) gadiial SieITaT A SRITe HRUNYT 3% 2Tl

Tt S :

9) (31), () MM (3) R) (31) MM (8) B 3) (3), (P) MU () ) (1) <Mr (%) wch

In the context of In WHO Air Quality Guidelines, which of the following statements are correct?

a) The 24-hour mean of PM 2.5 should not exceed 15 pug/m?3 and annual mean of PM 2.5 should
not exceed 5 ug/m3.

b) In a year, the highest levels of ozone pollution occur during the periods of inclement weather.

c) PM 10 can penetrate the lung barrier and enter the bloodstream.

d) Excessive ozone in the air can trigger asthma.

Answer Options :
1) (a), (c) and (d) 2) (a) and (d) only 3) (b), (¢c) and (d) 4) (a) and (b) only

HRATA I H—Uehol heled] T[T AT, TS ATC! 3fe Feeg (UbIoRT AT iafenT) FgeieM, 2099
AR, SHIGHI WTelieTdeh! Pl AT J&T cldeiaR Il TUTHRD 3TTR 2

3) sifecicgdg el Irat

) OO ARt

P) PR RN ufafhaie JRsEd dahiT FTARIM PhoiedT RIARYAT, SR 3Rl O

g) AMHER!/HETERI

R SR :

q) (31) 3T (3) b 2) (), (3) 3PN (8) 3) (3N), (P) 3 (3) 8) (3), (), (+), (3)
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With reference to pre-packaged items in India, it is mandatory to the manufacturer to put which

of the following information on the main label, as per the Food Safety and Standards (Packaging

and Labelling) Regulations, 20117

a) List of ingredients including additives

b) Nutrition information

¢) Recommendations, if any, made by the medical profession about the possibility of any allergic
reactions

d) Vegetarian/non-vegetarian

Answer Options :

1) (@and(b)only  2)(a), (b)and (d) 3) (a), (¢) and (d) 4) (), (b), (¢), (d)

3) Tgyur — qroft
YRSl PIE HRTI Elefletien! vk erel fvarea qudrd Yg¥eh UL Teesdld ?
31) aRifre q) ifderd ) FARSS
g) Prfceees %) g

T SR :
9) 31, §, P, SIMUTF )31, d, SAMIFFh 3)d, PSS Heh  g) 37 3T & Feh
Which of the following can be found as pollutants in the drinking water in some parts of India?

a) Arsenic b) Sorbitol ¢) Fluoride

d) Formaldehyde e) Uranium

Answer Options :

I)a,b,c,dande 2)a,b,dandeonly  3)b,canddonly 4) a and c only

TGN ] ASqUATed AGHI, SRITRHISUR e RS /B PRI 3TTed/ 3Ted ?

37) FRATId BIUIRY Stafdge Ufshar aTedy WUl ATh HRudTE ¢ oF 38

q) PSR 0T R TR 518 UTIHE DIURATE! g UQTRiiaR EHSIadm aTiR o SRIRHSIIGR
gST AT GUiul IUER el ST AT,

&) SR AITBRBIET aToR fIRINd: SARATS! ST dhetel JeoTd TIR PRUIIS! el ST Aehdl]

gt SR :

1) (@) FH ?) (@) amfor () 3) (an) ST () 8) (31), (3) 3T ()

In the context of solving pollution problems, what is/are the advantage/advantages of

bioremediation technique?

a) Itis a technique for cleaning up pollution by enhancing the same biodegradation process that
occurs in nature.

b) Any contaminant with heavy metals such as cadmium and lead can be readily and completely
treated by bioremediation using microorganisms.

c¢) Genetic engineering can be used to create microorganisms specifically designed for

Answer Options :
1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

HERTE ISTUTT AR WaT gaaRien - aRIRARS!, Sta-fafdedr sfor gamm aqd / ¢
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NRART Yed TR IRTAAT TR -CRieieedT eHTd, @ielledl o/ faem /3 sRieR 3fed/3med ?

37) JRIT-TRICICHE AMd! Haard fdged Refio SAIpemgR o 8.

¥) 1 faEeamed MR Snfor o Tk g ThRg 3ifH ISR JMed Sif ardTaRud Algett STdTd.

gt SR :

q) (31) Fh ?) (@) ®h

3) (an) amfor () < 8) (1) febar (%) It el

With reference to bio-toilets used by the Indian Railways, which of the statements given below

is/are correct?

a) The decomposition of human waste in the bio-toilets is initiated by a fungal inoculum.

b) Ammonia and water vapour are the only end products in this decomposition which are released
into the atmosphere.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

QAL BN DI BRI 3TTed ?

31) Raerear umvarl eRar fafd axor e IR

) i HIRThe M7 SR Fd BIThicd T PRI IR I 3TTg.

P) TRYAHT GNP deaid] ST dTedul I 3R,

3) RSP NG gehidl el g 9a JMR.

gt SR :

9) Beh 3T, § MMM P ) Fxh T, T 3MU & 3) 37, A S Heh  8) §, P 30 T Beh
What are the advantages of fertigation in agriculture?

a) Controlling the alkalinity of irrigation water is possible.

b) Efficient application of Rock Phosphate and all other phosphatic fertilizers is possible.
c¢) Increased availability of nutrients to-plants is possible.

d) Reduction in the leaching of chemical nutrients 1s possible.

Answer Options :

1)a,band conly 2)a,bandd only 3)a,cand d only 4)b, cand d only

TeficTieh! PIvRT fe /= aRIsR 31Te /3Ted ?

31) e oTet WRIor (CGWA) gR WRdTclier 36% freg afrenfye fohar 7k wgum anfiget amedT.

¥) CGWA T FAT9HT GITaRUl (FREI0T) BRI PRoANd 3TTel.

) ST oidt RreRaTellel &3 YRA [aid SR 31T,

gt SR :

9) %eh 31 Q) § 370 & heh 3) 9 %eh ¥) aF M0 & Fch

Which of the statements given below is/are correct ?

a) 36% of India’s districts are classified as “overexploited” or “critical” by the Central Ground
Water Authority (CGWA).

b) CGWA was formed under Environment (Protection) Act.

c¢) India has the largest area under groundwater irrigation in the world.

Answer Options :

1) aonly 2)band c only 3) b only 4)aand c only

HERTY ST AR AaT gauien amt - aRfRufred, Sta-fafdadr snfor gam ager / €9
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3) UGNUT - ATl
qRATT PrRGR, HAga WIRISH, BRe 3Nl I aTiRIhs AR Uifeel ST, & R
........ U gToReAl ST
9) Iciiclier Hiedmrds Q) TfshaT el ygruieY WRed

3) o fUhdUIR Tch ) AU AgSERIARN Toic

In India, the use of carbofuran, methyl parathion, phorate and triazophos is viewed with
apprehension. These chemicals are used as .........

1) pesticides in agriculture 2) preservatives in processed foods

3) fruit-ripening agents 4) moisturizing agents in cosmetics

e ARSI @dredn 31l /3R aTRTEr B R 81es e ?

37) AL FRIGISH - {thiaaT Gersiiarar TR 8l 21ehl.

q) AT ST AT S

&) T PIHICHel JToATeT el 2lss e, Wiehial $Is aTued g IR fa.

Tt S :

q) (@) wH R) (@) nfor () 3) (a1) amfor () 8) (31), (3) 3nfor ()
What can be the impact of excessive/inappropriate use of nitrogenous fertilizers in agriculture?
a) Proliferation of nitrogen-fixing microorganisms insoil can occur.

b) Increase in the acidity of soil can take place

c¢) Leaching of nitrate to the ground-water can occur.

Answer Options :
1) (b) only 2) (b) and (¢) 3)(a) and (¢) 4)(a), (b) and (¢)

HRA TRBR AL FH-Pics NI ITRF TIdTeT BT < ?

q) P dal ST Aleca™ STl Gersiiaid Age RURIPRUT dTed.
Q) gl olu ST g foxasuarar am HHt vl

3) TRICH siiaTss, SiI gRAYe ar] 3Te, fUehran SIarqT ardTeRund |isa Sid A,
¥) & quATereh 3T fafdre i) wd ai s 3

Why does the Government of India promote the use of Neem-coated Urea’ in agriculture?

1) Release of Neem oil in the soil increases nitrogen fixation by the soil microorganisms

2) Neem coating slows down the rate of dissolution of urea in the soil

3) Nitrous oxide, which is a greenhouse gas, is not at all released into atmosphere by crop fields
4) It is a combination of a weedicide and a fertilizer for particular crops

¥) UGHUT — €&t
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Y) YT R U

WIeHcTUh! PIVAT TPRY STg STahIceh12Ich g IR ?

31) dareRar 9) et ) G TS

qif SR :

q) (31) 3T (9) ®h ) (3r) 3T () 3) () 3o () 8) (31), (9) 3r ()

Some species of which of the following kinds of organisms are employed as biopesticides?

a) Bacteria b) Fungi c) Flowering plants
Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

WIeiIeieh! DIV S1g @ /e Wl TV dTaRel STl /et i 2

37) 3R ) ARCiP P) TRRNTRRT

IR SR :

q) (31) 3mfor (9) b R) (3N) 3T () 3) (&) 3for () 8) (31), () 3nfr (@)

Which of the following is/are used as biofertilizer/biofertilizers?

a) Agaricus b) Nostoc ¢) Spirogyra
Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

90) HERT JGRAYH, TATERONT MUt

PERT FIRATIA
yyfaRofta smoxt

9) HERT a9

HRAT T TFeheRT FIRATTT 18, 09¢ JAR Wiellelded! PIUrd G aRIsR 3778 ?

) HIRT TR HIRT I Aviiged fumren gifgst,

R) R e SAfERIERT ARRY T AT, SRR e AU A Sy SrSTIRIUATS! SAR] 3TTed.
3) TR clefther STfOT ST HichaT JIIURATST AISC ARIVIRIIS! S ST faRyel 1y TG Rl
8) Tapl Rieard i 2IORT $HerT SaT RNiealld geddT AUR ATEl, § HaRl SRR JUTHRD 3T

As per the Solid Waste Management Rules, 2016 in India, which one of the following statements

is correct?

1) Waste generator has to segregate waste into five categories.

2) The Rules are applicable to notified urban local bodies, notified towns and all industrial
townships only.

3) The Rules provide for exact and elaborate criteria for the identification of sites for landfills
and waste processing facilities.

4) Itis mandatory on the part of waste generator that the waste generated in one district cannot
be moved to another district.

HERTE ISTUTT AR WaT gauRien A - aRfRARTS!, Sta-fafderdr sfor gamm aqa / 9
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Teflettih! P Fedid URRITAIRRT 3T wirsaT TRifthde™’ AT JIsgiT g MR ?
q) gfties gealt Teei frepsum R) “afiies IR PIevATE T
3) RPN SR SMUTRd HAIeRt ¥) HERT T ol d=sTH

In the context of which one of the following are the terms ‘pyrolysis and plasma gasification’
mentioned ?

1) Extraction of rare earth elements 2) Natural gas extraction technologies
3) Hydrogen fuel-based automobiles 4) Waste-to-energy technologies
GTefietid! PIurdt faem sRIsR 3med ?

a) A INRIT PHHL AARIER UITT TGS A SN GIVBHRIS TRaM .

b) ARATAT TR TG TGl WSl SIS TR faTel 37Ted.

) BRI FAFReT’ SMRIIE UIudTd FGAmER SR

i SR :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

Which of the statements given below is/are correct ?

a) The Global Ocean Commission grants licences for seabed exploration and mining in
international waters.

b) India has received licences for seabed mineral exploration in international waters.

¢) ‘Rare earth minerals’ are present on seafloor in international waters.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

R) GfeRUiY SO

R00Y T AN DI & A& ST el bl WRGE! I & fhIRI UG fAsEad-T AUt go1

/GREN FA1G TGO B % ADAd. TR & HIC! 291 TV P BRI PRad ?

) WRECIE Gelgel &l HIal a1, AL dleh I8 ATerd fehal STeR Ug, Aehd AT A2 ISSTGR
fawh a=d

R) "R a4 & DU A¥fiies SMUiHaR BT SMaTIh STelel 37 Mr Sfiwer Qg GRaam

3) WREGEH! HTe ¢ BaiNIg $9 ST 30T TehlaTees fohdl G SR ITpE FaRT 7T HH
AT

8) WRECIA! 3T, FT Hob HISAT YHIUINT ST dlges AT TR I Ued AATard.

The 2004 Tsunami made people, realize that mangroves can serve as a reliable safety hedge against

coastal calamities. How do mangroves function as a safety hedge ?

1) The mangrove swamps separate human settlements from the seal a wide zone in which people
neither live nor venture out

2) The mangroves provide both food and medicines which people are in need of after any natural
disaster

3) The mangrove trees are tall with dense canopies and serve as an excellent shelter during a
cyclone or tsunami

4) The mangrove trees do not get uprooted by storms and tides because of their extensive roots

HERTE ISTURT AR WaT gaaRien - aRfRARTS!, Sta-fafdedr snfor gamm aqa / v
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ST : UASIIRATGRT gaa_iat

gRIRAFTHI. Sig-fafdear ol gamm= dea

q) SHIRIREH — HeheU T, UhR,

FNIIRTRIIDI, TN Th
q) shififen /aRwa=en, gafaRor -

HheTHT, AR
-3 - 3-¥
?) SHIRIRTH- UBR
-3 -¥ 3I-3 ¥-9 Y- §&=¥ V-2
3) 9INuT /ARl °95h
-3 -9 3I-9 ¥- 4-3 €91 0-%
) 31fearT g gRfRAfTHT Sredar

-3 -1 3R

Q) TRIRIRTH - Sl TR,
3T ARG 3Mfor ST
q) 37 ARGS! IHTOT ST
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